= A
N = 0] &F AF S & AN A
20209 &= 20l A B H Stz ~ S22
25 230z
HH: 230z M=
Sl SHTAl PH CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
E3t0 = 33,516,282 31,242,946 2,273,336
= 3,918,440
g 1,360,200
Jl 1,523,852
= 3,982,377
Al 22,731,413
2slil=z &= 7,391,793 6,656,450 735,343
Jl 1,412,252
& 946,182
Al 5,033,359
ST Al 28 2,005,530 1,433,000 572,530
o= 435,000
Al 1,570,530
SoEF KNG (2T AL AS 750,000 750,000 0]
= 435,000
Al 315,000
307 QI2t0| ™ 750,000 750,000 0
= 435,000
Al 315,000
02 QI2tAAMAIE E X 750,000 750,000 0
ORIIESFXNA (2T A)ETAANY
750,000,000& 750,000
o 435,000
Al 315,000
SSHHEA 2H 14,000 14,000 0
201 et | 6,000 6,000 0
03 A2 H| 6,000 6,000 0
O3 HHUEA 29 23S
2,000,000 = 33| 6,000
301 dEtE M= 8,000 8,000 0
09 #HAIAHI XIS 2 8,000 8,000 0
O2StHHEA 2 HFHOHKA ad 24
20,000 = 40¥ * 103 8,000
ZEO0LAIOIE2EIE Al WEEEANY 145,500 150,000 A 4,500
307 2iz2to| A 145,500 150,000 A 4,500
02 QIZ2FA AAIE E X 145,500 150,000 A4 500
OSO0IAIOI23 Al NFALY
150,000,000 * 97% 145,500
Hes)l=0 29 6,790 7,000 A210
307 2Iz2to| & 6,790 7,000 A210
02 QIZFA AAIE E X 6,790 7,000 A210
OFE=I|=0] 29 7,000,000 * 13| * 97% 6,790
s 29 7,760 8,000 A 240




2N
X ZH -
L= B

el

M0 MO MO

nes=
> iy

tol toi ton

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 7,760 8,000 A 240
02 PIZHEHAHEE 7,760 8,000 A 240
O8ESFd=sR 3 8,000,000& * 13 * 97% 7,760
KNS 2t (e ) @A A 63,050 65,000 A 1,950
307 eIzl & 63,050 65,000 A1,950
04 QIZFHALAIH E = 63,050 65,000 A 1,950
OXI A =23t (3HE )& A 65,000,000& * 97% 63,050
= AQ T2 8,730 9,000 A 270
307 21201 A 8,730 9,000 A 270
02 ItFAAHE X 8,730 9,000 A 270
OANE=0Z35ts 9,000,000& = 97% 8,730
= AQD Shot=s 28 2H 9,700 10,000 A 300
307 21201 A 9,700 10,000 A 300
02 IZtE S AIHE L 9,700 10,000 A 300
O&F= AL Mot A2 2
10,000,000& * 97% 9,700
23S Al AL 1,000,000 0 1,000,000
307 21201 A 1,000,000 0 1,000,000
02 LAFAAFEX 1,000,000 0 1,000,000
O=F3ZTA =4 ALY 1,000,000, 000& 1,000,000
Estol =&AL X 2,728,749 2,783,885 A 55,136
< 393,600
Al 2,335,149
AKX AAHZ XA GICHE 48,000 60,000 A 12,000
< 18,000
Al 30,000
307 21201 A 48,000 60,000 A 12,000
< 18,000
Al 30,000
04 DIZHHALALSE E X 48,000 60,000 A 12,000
OFFHXMASXMUCE
48,000,000& = 13l 48,000
< 18,000
Al 30,000
SHE HZ SN 40,000 40,000 0
< 12,000
Al 28,000
307 21201 A 40,000 40,000 0
= 12,000
Al 28,000
04 DIZHHALALSE E X 40,000 40,000 0




SN 2s0ED
M 20z s
& S3o=AM X (Sl & &)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
o4d 40,000,000& = 13l 40,000
< 12,000
Al 28,000
2 d=std 48,000 40,000 8,000
< 14,400
Al 33,600
307 21201 A 48,000 40,000 8,000
< 14,400
Al 33,600
04 QIZFHALAIH B = 48,000 40,000 8,000
O=rZ of tHHA
48,000,000 = 13l 48,000
< 14,400
Al 33,600
ER0E3 30,600 34,000 A 3,400
< 8,100
Al 22,500
307 glz2+ol & 30,600 34,000 A 3,400
= 8,100
Al 22,500
02 21tz & 30,600 34,000 A 3,400
OsE2=0 2 30,600,000& = 1=l 30,600
< 8,100
Al 22,500
=M gUiol=d 20,000 20,000 0
< 6,000
Al 14,000
307 21201 A 20,000 20,000 0
< 6,000
Al 14,000
04 DIZHHALALSE E X 20,000 20,000 0
OF==M&etil=d 20,000,000& = 13l 20,000
< 6,000
Al 14,000
=S 4ERE Fe-Story HAEIE 36,000 40,000 A 4,000
= 10,800
Al 25,200
307 glz2tol & 36,000 40,000 A 4,000
< 10,800
Al 25,200
04 212t AFALES 36,000 40,000 A 4,000
os=s4 'Fe-Story' HIAEIE
36,000,000& * 13l 36,000
= 10,800
Al 25,200
FH=22H ctet 2H RIS 45,000 0 45,000




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 13,500
Al 31,500
307 glz2tol & 45,000 0 45,000
< 13,500
Al 31,500
04 QIZFHALAIH 2 = 45,000 0 45,000
OF=t=22Hctet 2H 2K
45,000,000& = 13l 45,000
< 13,500
Al 31,500
ctEEM Mt 2H et 45,000 0 45,000
< 13,500
Al 31,500
307 glz2+ol & 45,000 0 45,000
< 13,500
Al 31,500
04 DIZHHALAISE E X 45,000 0 45,000
octZ=2MHectet 2H KA
45,000,000& = 13l 45,000
< 13,500
Al 31,500
EF=E3d 20=EA XA 30,992 63,900 A 32,908
307 gl2tol & 30,992 63,900 A 32,908
02 IZHEHAHE L 30,992 63,900 A 32,908
OF=Zstd 2t AL XI&  30,992,000& 30,992
AL EZ3Ho =& AL 32,300 32,300 0
< 32,300
307 i+l & 32,300 32,300 0
= 32,300
04 RIZFHALAIH E = 32,300 32,300 0
OXZ=sH=s8MN N (ES2IAMHIIS)
32,300,000& * 13l 32,300
< 32,300
dSClstHE 11,201 12,830 A 1,629
307 glz2tol & 11,201 12,830 A 1,629
02 It M AMHEE 11,201 12,830 A 1,629
(OFSE=RRIR-I D[R 11,547,000& * 13 * 97% 11,201
E=0=H 174,600 180,000 25,400
307 glz2+ol & 174,600 180,000 5,400
04 QIZFHALAIH B = 174,600 180,000 A5,400
oOFF0=M 180,000,000& * 13| * 97% 174,600
8t 23tz s At 9,700 10,000 A 300

307 glztol & 9,700 10,000 A 300




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DIZFSHALAIRI 2 = 9,700 10,000 300
Ost=Zstollzws 10,000,000& * 13 * 97% 9,700
S=2US0==H A HAHS 3,880 4,000 A120
307 glz2tol & 3,880 4,000 A 120
04 QIZFHALAIH B = 3,880 4,000 A 120
OSSUSM==M EFANMLUZ
4,000,000& * 13l = 97% 3,880
0= =2 & 5,820 6,000 A 180
307 glz2tol & 5,820 6,000 A 180
04 QIZbSHAIAIRI 2 = 5,820 6,000 A 180
OF=0z! oz &
6,000,000& = 13| = 97% 5,820
Ao A& 3,880 4,000 A 120
307 glz2tol & 3,880 4,000 A 120
04 DIZFSHALAIRI 2 = 3,880 4,000 A120
OFFAMM=4 Al
4,000,000& = 13l = 97% 3,880
d=AEBE2H 13,580 14,000 A 420
307 2201 A 13,580 14,000 A 420
04 DIZHHALALSE E X 13,580 14,000 A 420
OF= HIAE 22H
14,000,000& * 12| » 97% 13,580
frH=3H 23,499 24,225 AT26
307 21201 A 23,499 24,225 AT26
04 QIZFHALAIH B = 23,499 24,225 AT26
ORx=H=3¢ 24,225,000& * 13| » 97% 23,499
HEFINRA 7,421 7,650 A 229
307 gl2tol & 7,421 7,650 A 229
04 DI2ZHHALALSE E X 7,421 7,650 A 229
O&FEFIIH 7,650,000& = 13| = 97% 7,421
stdisa3Al 2 3,395 3,500 A 105
307 glz2tol & 3,395 3,500 A 105
04 QIZFHALAIH E = 3,395 3,500 A 105
ostMsAHdAHUE 3,500,000 * 13 * 97% 3,395
HFA S MSEHISM 6,790 7,000 A210
307 21201 A 6,790 7,000 A 210
04 QIZFHALAIH B = 6,790 7,000 A 210
OHFASGHASIH  7,000,000& * 13| * 97% 6,790
22 Al 1,940 2,000 260




25 230z

HH: 230z M=

& S3o=AM X (cho &)
- _ _ RE]

SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
307 2iz2to| & 1,940 2,000 A B0
04 QIZ2tSHAFAFS B X 1,940 2,000 A 60

O 2,000,000& * 18 * 97% 1,940

HFA HAEZ Al AR 22 H 3,880 4,000 A 120
307 giztol A 3,880 4,000 A 120
04 CIZ2tSHALALS B = 3,880 4,000 A 120

OFHEFANAESETAAMNRZEZHN
4,000,000& * 13| * 97% 3,880

CH Xl 2,425 2,500 ANTH
307 2iz2to| & 2,425 2,500 ANTH
04 OIZ2tSHAFALS B = 2,425 2,500 ATH

OS2 2,500,000 * 13 * 97% 2,425

HF=20 g3 3@ HEA 2,328 2,400 NT2
307 QI2t0| ™ 2,328 2,400 NT2
04 CIZ2tSHALALS B = 2,328 2,400 NT2

020 HANBH U AT
2,400,000& * 13 * 97% 2,328

=80 xFH2UAA L EZJ 3,880 4,000 A 120
307 2iztol & 3,880 4,000 A 120
04 QIZ2tSHALALS B X 3,880 4,000 A 120

o2 ZHUN U E23|
4,000,000& * 13| * 97% 3,880

AlQIDE SHSl=E &89 & 8,245 8,500 A\ 25b5
307 2Iz2tol & 8,245 8,500 A\ 25b5
04 SIZ2ISHAAISH E & 8,245 8,500 A 255

OAlIRI D S ol 289
8,500,000 * 13| * 97% 8,245

HFEDz=83 sd¥d 8,245 8,500 A\ 255
307 2Iz2t0| A 8,245 8,500 A 25b5
04 SIZ2HSHAAISHE E & 8,245 8,500 A\ 255

OFF0 =83 33N
8,500,000 * 18] * 97% 8,245

2EW Mot A 8,245 8,500 A 255
307 212t0| & 8,245 8,500 A 25h5
04 SIZ2ISHAMAISHE E X 8,245 8,500 A\ 25b5

o2&l Mol =AH
8,500,000& * 13| = 97% 8,245

HFNIZLZEHAU S 14,099 16, 150 A2,051

307 QI2t0| ™ 14,099 16, 150 A2,051




2N
X ZH -
L= B

el

ob ot joh
22
ey
@

M0 MO MO

x

!

Off &t 24

=

i
2m

o
=

97%

14,099

14,099

,150

02

7,760

,000

A 240

7,760

[ee)

,000

A 240

12

97%

7,760

7,760

[ee)

,000

A 240

02

19,400

20,

000

A 600

19,400

20,

000

A 600

97%

19,400

19,400

20,

000

A 600

o

12,610

,000

A 390

12,610

,000

A 390

13,000,000

97%

12,610
12,610

,000

A 390

5,335

,500

A 165

5,335

,500

A 165

12

97%

5,335

5,335

,500

A 165

02

8,245

,500

A 255

8,245

,500

A 255

224U ME

8,500,000&

97%

8,245

8,245

,500

A 255

o

9,215

,000

AT85

9,215

,000

AT85

HALALE 2 =

AIOF= M2tz 0 &

9,500,000

97%

9,215

9,215

,000

AT85

0zt

48,500

50,

000

A 1,500

48,500

50,

000

A 1,500

50,000,000

97%

48,500
48,500

50,

000

A 1,500

3,492

,600

A 108

3,492

,600

A 108

3,492

,600

A 108




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
otl=&3Jed 3,600,000 = 13| » 97% 3,492
2 AclS8 3,880 4,000 A 120
307 glz2+ol & 3,880 4,000 A 120
04 QIZbSHAIAIRI 2 = 3,880 4,000 A120
og Acl=2E 4,000,000& = 12l = 97% 3,880
AT ZZHEAlS 3,880 4,000 A 120
307 21201 A 3,880 4,000 A 120
04 QIZFHALAIR B = 3,880 4,000 2120
OAMEZZHE Al 4,000,000& = 13l = 97% 3,880
A=ESAZAME 3,880 4,000 A 120
307 2201 A 3,880 4,000 A 120
04 DIZHHALALSE E X 3,880 4,000 A 120
ooIZgotEMENA
4,000,000& = 13l = 97% 3,880
SELE 3,880 4,000 A 120
307 21201 A 3,880 4,000 A 120
04 DIZFHALALSE E X 3,880 4,000 A 120
SEHE 4,000,000& = 13l = 97% 3,880
S 2t02tdl 0] 4,850 5,000 A 150
307 gl2tol & 4,850 5,000 A 150
04 DIZHHALALSE E X 4,850 5,000 A 150
O©gZ3tot3tdiol 2% 5,000,000& = 13l » 97% 4,850
F=U=EIE0LE 3,880 4,000 A 120
307 glz2tol & 3,880 4,000 A 120
04 QIZFHALAIH E = 3,880 4,000 A 120
OF=Q=E380tY  4,000,000& * 13 * 97% 3,880
RS HHA 3,880 4,000 A 120
307 21201 A 3,880 4,000 A 120
04 QIZFHALAIH B = 3,880 4,000 A 120
OFZAZHEA: A 4,000,000& = 13l = 97% 3,880
FFUE0=2U3 2,910 3,000 A 90
307 21201 A 2,910 3,000 A 90
04 DIZHHALALSE E X 2,910 3,000 A 90
OFFUSM=2Uz
3,000,000& = 12| » 97% 2,910
3652 HAIZBAHO0l EXles 2stEAx=H 43,650 45,000 A 1,350
307 21201 A 43,650 45,000 A 1,350
04 QIZFHALAIH B = 43,650 45,000 21,350




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0365 MABH0l EXl= 3T Al =4
45,000,000& = 97% 43,650
SEEFAY 0= Ot 5,820 6,000 A 180
307 gl2tol & 5,820 6,000 A 180
04 DIZFSHAIAIRI 2 = 5,820 6,000 A 180
OFE=EdAHUUSM=M &It
6,000,000& = 12l = 97% 5,820
sS=SUHM==d ot 5,820 6,000 A 180
307 21201 A 5,820 6,000 A 180
04 QIZFHALAIR B & 5,820 6,000 A 180
CEELENEES -]
6,000,000& * 13l » 97% 5,820
S=2H3H &t 3,880 4,000 A 120
307 21201 A 3,880 4,000 A 120
04 DIZFSHAIAIRI 2 = 3,880 4,000 A120
O=s=d=H &It 4,000,000& = 13l = 97% 3,880
d=H3H FIt 2,910 3,000 A 90
307 21201 A 2,910 3,000 A 90
04 DIZHHALALSE E X 2,910 3,000 A 90
O&==H &It 3,000,000& = 13| » 97% 2,910
d=2EHMH &It 2,910 3,000 A90
307 gl2tol & 2,910 3,000 A 90
04 DIZHHALAISE E X 2,910 3,000 A 90
OXH=2REM EIt 3,000,000& * 13 * 97% 2,910
FAaEweretth 3| A =3 2,910 3,000 A 90
307 glz2+ol & 2,910 3,000 A 90
04 QIZFHALAIH B = 2,910 3,000 A 90
CEPNEIE gDl
3,000,000& = 13| » 97% 2,910
Jt=21 otelote & 2,910 3,000 A 90
307 glz2tol & 2,910 3,000 A 90
04 DI2HHALALSE E X 2,910 3,000 A 90
©Jt=1 ot2lote &
3,000,000& = 13| » 97% 2,910
A3 A 2,910 3,000 A 90
307 gl2tol & 2,910 3,000 A 90
04 DIZHHALALSE E X 2,910 3,000 A 90
O At 3 A 3,000,000& = 13| *» 97% 2,910
PaNEE A 2,910 3,000 A 90




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
307 glz2tol & 2,910 3,000 A 90
04 DI2HHALALSE E X 2,910 3,000 A 90
OR& Atz 3IJAA  3,000,000& * 13 = 97% 2,910
HdIAEZZEHUS 8,730 9,000 A 270
307 eIzl & 8,730 9,000 A 270
04 QIZFHALAIH E = 8,730 9,000 A 270
OMIAN=ZEUE  9,000,000& * 13 * 97% 8,730
CHH stz A 20,739 21,380 A 641
307 21201 A 20,739 21,380 A 641
04 QIZFHALAIH B = 20,739 21,380 A 641
OHMEZsto=HME 21,380,000& * 13 * 97% 20,739
SH s 1= 12,610 13,000 A 390
307 21201 A 12,610 13,000 A 390
04 DIZHHALALSE E X 12,610 13,000 A 390
OsdY & 1 = 13,000,000& * 13| » 97% 12,610
2ells 7 2HME 9,700 10,000 A 300
307 glz2tol & 9,700 10,000 A 300
04 DI2HHALALSE E X 9,700 10,000 A 300
Oxclls FRE 2MHME
10,000,000& * 13| * 97% 9,700
FF0telg 243 Alz 11,640 12,000 A 360
307 21201 A 11,640 12,000 A 360
04 DIZHHALALSE E X 11,640 12,000 A 360
OFZOl2IY 2AAAU S
12,000,000& * 13| » 97% 11,640
d=s2 A 10,782 11,700 A918
307 21201 A 10,782 11,700 2918
04 QIZFHALAIR B = 10,782 11,700 A918
odl=s=2 A 11,115,000 » 13| » 97% 10,782
= 832020 EFHU3 27,645 28,500 A 855
307 gl2+tol & 27,645 28,500 A 855
04 DI2HHALALSE E X 27,645 28,500 A 855
OE=0g0l g&a&ZHUS
28,500,000& = 13| » 97% 27,645
FEEFINMM =HHILH 8,730 9,000 A 270
307 21201 A 8,730 9,000 A270
04 DIZHHALALSE E X 8,730 9,000 A270




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OF=MNUIIHE S =0HA
9,000,000& = 13l = 97% 8,730
FF0FHIA 2,910 3,000 A 90
307 gl2tol & 2,910 3,000 A 90
04 DIZHHALALSE E X 2,910 3,000 A 90
OHEFHEFHIISAE  3,000,000& = 13 » 97% 2,910
st MU= F 8,730 9,000 A 270
307 glz2tol & 8,730 9,000 A 270
02 It M AMHEE 8,730 9,000 A 270
Osts=HI2s0=un=
9,000,000& = 13l = 97% 8,730
423 ME0YE 4,365 4,500 A135
307 gl2tol & 4,365 4,500 A135
04 DIZHHALALSE E X 4,365 4,500 A 135
OdsS=aMEetore
4,500,000& = 13l = 97% 4,365
FEEF ZESBIIRII 20,952 21,600 A 648
307 21201 A 20,952 21,600 A 648
02 It S AHE L 20,952 21,600 A 648
OFEFF EFEZIIDI
21,600,000& = 13| » 97% 20,952
N& 4,365 4,500 A 135
307 21201 A 4,365 4,500 A 135
02 UAFAAFEX 4,365 4,500 A 135
ONZE B E 4,500,000& = 13l = 97% 4,365
SIS ALME T 2 4,365 4,500 A135
307 21201 A 4,365 4,500 A135
02 It S AIHE L 4,365 4,500 A 135
ONISTMALMIHSl  4,500,000& = 13l » 97% 4,365
FAMEEN 2A L M A 43,214 49,500 N6,286
307 glz2tol & 43,214 49,500 NB,286
04 DI2HHALALSE E X 43,214 49,500 N6,286
OHAMIH=N =2t A
44,550,000& = 13| = 97% 43,214
a2 A=2 0l=d 8,245 8,500 A 255
307 gl2tol & 8,245 8,500 A 255
04 DIZHHALALSE E X 8,245 8,500 A 255
oz 2= Ol=d
8,500,000& = 13l = 97% 8,245




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
HdE2HE S diotth 14,550 15,000 A 450
307 gl2tol & 14,550 15,000 A 450
04 DI2ZHHALALSE E X 14,550 15,000 A 450
OXHZEZES ddltH(H=s ASA)
15,000,000& * 13| * 97% 14,550
SHSTMMOA 3,880 4,000 A120
307 21201 A 3,880 4,000 2120
04 DIZHHALALSE E X 3,880 4,000 A 120
OSHSMMOUCMAE  4,000,000& = 13 » 97% 3,880
NHZAZAIZE 20 =zRE 3,880 4,000 A 120
307 gl2tol & 3,880 4,000 A 120
04 DIZHHALALSE E X 3,880 4,000 A 120
OXNHBAHEZAIZL 280z R
4,000,000& = 13l = 97% 3,880
H==20stg3d 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 DIZHHALALSE E X 7,760 8,000 A 240
OH==202l3 E3l& 8,000,000& * 13 » 97% 7,760
FFlznded 8,245 8,500 A 255
307 glz2tol & 8,245 8,500 A 255
04 DIZHHALALSE E X 8,245 8,500 A 255
OFFM=wa2Y 8,500,000& * 13| » 97% 8,245
R0t 2stll=gs 222 46,560 48,000 21,440
307 glz2tol & 46,560 48,000 AN 1,440
04 QIZFHALAIH B = 46,560 48,000 21,440
OOt S3oi=2s LE2=
48,000,000& * 13| = 97% 46,560
AMEUSABHIIL A 12,416 12,800 A 384
307 glz2+ol & 12,416 12,800 A 384
04 QIZFHALAIH E = 12,416 12,800 A 384
OAEUSAHIIR M
12,800,000& * 13| * 97% 12,416
S=SH=H K= 13,095 13,500 A 405
307 gl2tol & 13,095 13,500 A 405
04 DIZHHALALSE E X 13,095 13,500 A 405
OFE=9=3H Ml 13,500,000 * 13| * 97% 13,095
AU 2ssty 29 15,520 16,000 A 480
307 glz2tol & 15,520 16,000 A 480




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 15,520 16,000 A 480
OBAHZSSN 29
16,000,000& * 13| » 97% 15,520
AN SEUHA 29,100 30,000 A 900
307 glz2tol & 29,100 30,000 A 900
04 DIZFSHAIAIR 2 = 29,100 30,000 900
OZXXE&UHAH 30,000,000& * 13| *» 97% 29,100
AL & g A 48,500 50,000 A 1,500
307 glz2tol & 48,500 50,000 A 1,500
04 QIZbSHAIAIRI 2 = 48,500 50,000 A 1,500
OFFAIRL & JE&HA
50,000,000& * 13| * 97% 48,500
EF=SH2&X 271,600 280,000 A 8,400
307 glz2tol & 271,600 280,000 A 8,400
04 DIZHHALALSE E X 271,600 280,000 A 8,400
OFFSH2&X 280,000,000 * 13 * 97% 271,600
HE =0l 38,800 40,000 A1,200
307 glz2tol & 38,800 40,000 A1,200
04 QIZFHALAIH E = 38,800 40,000 A 1,200
oOHsE=0l 40,000,000 * 13l * 97% 38,800
=83 31,040 32,000 A 960
307 21201 A 31,040 32,000 A 960
04 QIZFHALAIH B = 31,040 32,000 A 960
oJtss«s 32,000,000& = 13| » 97% 31,040
STHAEE 39,285 40,500 A1,215
307 21201 A 39,285 40,500 21,215
04 DIZHHALALSE E X 39,285 40,500 21,215
OSHHAEIYIE 40,500,000& = 13 » 97% 39,285
HFABSAE 29,100 30,000 A 900
307 glz2tol & 29,100 30,000 A 900
04 DI2HHALALSE E X 29,100 30,000 A 900
OFF=AR S 30,000,000 * 13 * 97% 29,100
IIBEY YSGANE2AME 43,650 45,000 A 1,350
307 glz2+ol & 43,650 45,000 A 1,350
04 QIZFHALAIH B = 43,650 45,000 A 1,350
ONZFHY HSANHEZHNE
45,000,000& * 13| = 97% 43,650
SWse RSN 60,000 60,000 0
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< 30,000
Al 30,000
307 glz2tol & 60,000 60,000 0
< 30,000
Al 30,000
04 QIZFHALAIH 2 = 60,000 60,000 0
OZLaE FHSALM 60,000,000 = 13l 60,000
< 30,000
Al 30,000
A2 EHote dMES23 43,170 49,450 26,280
307 21201 A 43,170 49,450 A 6,280
04 QIZFHALAIH B = 43,170 49,450 A6,280
OAI2IL & Hote dMESS
44,505,000 * 13| = 97% 43,170
A2 EHote JtE38 <3l 49,470 51,000 A 1,530
307 glz2tol & 49,470 51,000 A 1,530
04 QIZFHALAIH B = 49,470 51,000 A 1,530
OAlBI &Hote JI2383l
51,000,000& = 13| * 97% 49,470
HYAA ECIE A 19,400 36,000 A 16,600
307 glz2tol & 19,400 36,000 A 16,600
04 QIZFHALAIH E = 19,400 36,000 A 16,600
OAHLUHAl ECIHA
20,000,000& = 13| » 97% 19,400
dFs5d32&8x018 AXs23 69,840 80,000 A 10,160
307 gl2tol & 69,840 80,000 A 10,160
04 DIZHHALALSE E X 69,840 80,000 A 10,160
OBESH2FXINE HXSAS
72,000,000 = 13l = 97% 69,840
SES23 85,554 88,200 A2,646
307 21201 A 85,554 88,200 A2,646
04 DIZFHALALSE E X 85,554 88,200 A2,646
osE3%3 88,200,000& = 13| » 97% 85,554
A AE3S 22 8,730 9,000 A270
307 gl2tol & 8,730 9,000 A 270
04 DI2HHALALSE E X 8,730 9,000 A270
0FAW 48SY T2
9,000,000& = 13l = 97% 8,730
d=2 F4AHE SAZ2 31,300 31,300 0
< 10,000
Al 21,300
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== 20,000
Al 20,000
U MEEY HAEE 280,000 280,000 0
< 140,000
Al 140,000
307 glz2tol & 280,000 280,000 0
< 140,000
Al 140,000
04 DI2HHALALSE E X 280,000 280,000 0
OFEU M=EY HAEHY
280,000,000& * 12l 280,000
< 140,000
Al 140,000
gl 3243l 7,760 0 7,760
307 21201 A 7,760 0 7,760
04 DIZHHALALSE E X 7,760 0 7,760
Oogelttz 243l 8,000,000& = 13| = 97% 7,760
ANeg2stos X 6,750 7,000 A 250
201 ¢er24l 4,750 5,000 A 250
01 At 2t 2l 4,750 5,000 A 250
Ozstol=&Z HMA 10,0008 * 30000 * 95% 2,850
O23toli=l ZAHH A&
100,000& * 2000 = 95% 1,900
203 YR =2l 2,000 2,000 0
03 A FAH S =AY 2,000 2,000 0
OZto = AN =& 2,000,000& 2,000
24E ZotUl= A 116,900 124,200 A7,300
201 Let24dH] 6,840 7,200 A 360
01 At 22/l 6,840 7,200 A 360
0= g1 =3#ZHl 6,840
O AH& E0N M
10,0003 * 80% = 95% 760
OANZAHE 2EDM M=
15,0003 * 605 * 95% 855
O#HIMNPLAN BOM HE
15,0003 * 80% » 95% 1,140
OANAEUS BE0M M=
15,000& * 605 * 95% 855
OSAASALEHIIRRAS EDN M
15,000& = 80 = 23| = 95% 2,280
ORI (2Ms22R)
0,000& = 208 = 95% 950
203 YR =&l 15,000 19,000 A 4,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH R =ZH| 15,000 19,000 A 4,000
OZ20=&A 2R 9,000,000& 9,000
OXNYAEZsI|Iet2= PRFA 6,000,000 6,000
307 gl2tol & 95,060 98,000 A 2,940
04 DIZHHALALSE E X 95,060 98,000 A 2,940
OAZE 23ttl==HAL X 98,000,000 * 97% 95,060
Est0= A XA 657,354 652,925 4,429
=03 249 N 104,350 101,891 2,459
307 glz2tol & 104,350 101,891 2,459
02 It HAMHEE 6,596 6,800 A 204
OF=0=X &2t 6,800,000& * 13l * 97% 6,596
03 AHMEE2IHIES 97,754 95,091 2,663
OF=0UZE 24l 97,754,000 97,754
FF00Es 29 NE 79,032 78,934 98
307 gl2tol & 79,032 78,934 98
02 It S AHE L 27,888 28,750 A 862
OE=HII20 X 22t
5,000,000& = 12l = 97% 4,850
O=gZsNEgd 29 23,750,000& * 97% 23,038
03 QIAHMNHE2IHIEE 51,144 50, 184 960
OF=CuE 2l 51,144,000 51,144
=3 2GAH 241,674 242,200 A 526
307 21201 A 241,674 242,200 A 526
02 QAFAAFEX 122,220 126,000 A 3,780
OBE2SBN L2
25,000,000 = 13| * 97% 24,250
O¥==2stsotel ELEAMH
80,000,000& * 97% 77,600
OoXg=stetn XI& 6,000,000& = 13 * 97% 5,820
OFFACS |t nd2AI "UWAY HF'
15,000,000& * 13| * 97% 14,550
03 BIAHMNHE2IHIEL 119,454 116,200 3,254
OF=EZstd 294l XA 119,454,000& 119,454
239y 29 229,000 226,500 2,500
307 21201 A 222,000 220,000 2,000
05 RIZt2IE = 222,000 220,000 2,000
OFF=E32d 2¢ 111,000, 000& 111,000
Os4Y&Esod 29 111,000, 000& 111,000
405 RHoHF S HI 7,000 0 7,000
01 AL EZFH S 7,000 0 7,000
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OEY =239y HHLI(HEEH)
3,500,000& =« 2CH 7,000
=2 Sd X 3,298 3,400 A 102
307 gl2tol & 3,298 3,400 A 102
02 IZHE M AHE L 3,298 3,400 A 102
Ol=3% Sl XN&
3,400,000& = 13| » 97% 3,298
L22HE 2SU=RA 2,000,160 1,786,640 213,520
J| 1,412,252
< 117,582
Al 470,326
SEZ30I2HAY 2,000,160 1,786,640 213,520
J| 1,412,252
= 117,582
Al 470,326
307 21201 A 2,000, 160 1,786,640 213,520
J| 1,412,252
< 117,582
Al 470,326
02 QB AAHE X 2,000,160 1,786,640 213,520
OsEg=2s0l8d At 2,000, 160, 000& 2,000,160
J| 1,412,252
< 117,582
Al 470,326
dEs2st BEE Y &85 10,596,693 7,317,226 3,279,467
= 3,868,440
J| 111,600
= 2,556,195
Al 4,060,458
oM &2 9,228,400 5,761,028 3,467,372
= 3,552,900
J| 86,600
< 2,378,725
Al 3,210,175
EXNZE2 M EFHAL 2,301,000 1,101,400 1,199,600
< 1,150,500
Al 1,150,500
201 ¢er24| 1,200 2,400 A 1,200
< 600
Al 600
01 At 2t 2l 1,200 2,400 A1,200
O23 M E=FHAY SFI=XNEX2 =&
1,200,000 1,200
< 600
Al 600
207 A O &l 21,000 0 21,000
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 10,500
Al 10,500
01 289 21,000 0 21,000
OZXEHEY =FAX A2 XA 21,000,000& 21,000
< 10,500
Al 10,500
401 AIEHIZ 28I 2,278,800 1,099,000 1,179,800
= 1,139,400
Al 1,139,400
01 A& HI 2,270,670 1,095,040 1,175,630
O4stel 24 EX0H 1,730,000,000& 1,730,000
< 865,000
Al 865,000
Ozzxs 949 E= 50,000,000& 50,000
< 25,000
Al 25,000
o= JIAnN2D| 100,000, 000& 100,000
< 50,000
Al 50,000
OEHsSL2A(452) B3| 120,000, 000& 120,000
< 60,000
Al 60,000
OMIIA HEAMOHTL 2524 24
44.,000,000& 44,000
< 22,000
Al 22,000
OSMY X MAY HES 200,000, 000& 200,000
< 100,000
Al 100,000
o298 & B4 16,000, 000& 16,000
= 8,000
Al 8,000
OZXNZZ3M 2a & 20+
10,670,000& 10,670
< 5,335
Al 5,335
03 Al 20 HI 8,130 3,960 4,170
OEXNHE M EFHIAY 20U
8,130,000 8,130
< 4,065
Al 4,065
=23 Zhl 280,000 387,000 A 107,000
401 A& BIZ 201 8I 280,000 387,000 A 107,000
01 A& HI 280,000 387,000 A 107,000
OSsM = FTHE L ML
200,000, 000& 200,000
OSASHMUESA LS 22 L 2o
80,000,000& 80,000
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= N H
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01 A& HI 1,565,000 0 1,565,000
oagMd ==FHl £ 15,000, 000& 15,000
- 10,500
< 2,250
Al 2,250
oaZdyd 8 22 Fil 150,000, 000& 150,000
= 105,000
< 22,500
Al 22,500
OXES NEF MA2 2L 4
100,000, 000& 100,000
= 30,000
< 35,000
Al 35,000
OHlISel AX0ocHaEY & AX0Hey EX
OH & 1,000,000, 000& 1,000,000
= 700,000
< 150,000
Al 150,000
OHlScl AX0cHaEs 2 A0y F3Y
aE 50,000,000& 50,000
= 35,000
= 7,500
Al 7,500
O A A el W= 2EX
220,000, 000& 220,000
= 154,000
< 33,000
Al 33,000
O=3415 &3) 'Bg' dZaL
15,000, 000& 15,000
= 7,500
= 3,750
Al 3,750
OL-4 H&)] LA 15,000, 000& 15,000
= 7,500
< 3,750
Al 3,750
402 RI2HXt20| 756,000 200,000 556,000
= 529,000
< 113,500
Al 113,500
02 2IZE 2 A EZ (OIS ) 756,000 200,000 556,000
OQMAL B2 H=E 756,000,000& 756,000
= 529,000
< 113,500
Al 113,500
403 XAXISHM S X201 A 1,720,000 1,280,000 440,000
= 1,204,000
< 258,000
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Al 17,850
OXNNHA S2EU=EH & 4,400,000& 4,400
= 2,200
Al 2,200
OEECA IESd UEEH &XF
30,000,000 30,000
= 15,000
Al 15,000
03 A& E2HH]| 900 500 400
OEXAEZSMN LA AH 900,000& 900
& 450
Al 450
2N E 23 MUY THAIE 2= 28,000 45,000 A 17,000
J| 14,000
== 7,000
Al 7,000
401 Al HIZL 2 0HY| 28,000 45,000 A 17,000
J| 14,000
& 7,000
Al 7,000
01 Al&H| 28,000 45,000 A 17,000
O23s & - A JIs HIIAIE MA
28,000,000 28,000
J| 14,000
& 7,000
Al 7,000
ZINKNE2SM 2gsa L STHAE 22 28,000 28,000 0
J| 19,600
== 4,200
Al 4,200
201 gBt2Ay| 28,000 28,000 0
J| 19,600
= 4,200
Al 4,200
02 E2=2=2%H| 28,000 28,000 0
OYTHAIE S22 (AN, D22 e, AlG
&S 28,000,000 28,000
J| 19,600
& 4,200
Al 4,200
sk K& A 29,000 29,000 0
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Al 14,500
307 2Iz2t0| & 29,000 29,000 0
= 14,500
Al 14,500
02 QIZFAAAIE E X 29,000 29,000 0
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207 & O] 50,000 100,000 A50,000
01 284 50,000 100,000 A 50,000
O342 LM AH(2EX) 50,000,000& 50,000
N EZ3tRE S=X A 40,000 0 40,000
401 A& HIZ 201 Y] 40,000 0 40,000
01 A& HI 40,000 0 40,000
od=zs #=22& 2N 0= 40,000,000& 40,000
M CHLHE FHIAY 39,000 0 39,000
= 23,300
< 7,850
Al 7,850
401 AIEHI L 20 39,000 0 39,000
= 23,300
< 7,850
Al 7,850
01 A& HI 39,000 0 39,000
O=ItXE 2t e FHl(5H4)
29,000,000& 29,000
= 20,300
< 4,350
Al 4,350
OZXE 25N rU® Il (2 A)
10,000, 000& 10,000
= 3,000
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Al 3,500
HSANE & AL 22 655,780 794,112 A 138,332
= 294,540
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Al 215,020
=23t Ald 2el 56,200 441,700 A 385,500
307 21201 A 56,200 441,700 A 385,500
05 RIZt2IE = 56,200 441,700 A385,500
O=ZsMAIE A& ZH 56,200
Oigd LS 35,000,000 = 10024 35,000
(OF =PI FSECME-FT 21,200,000& * 1JH 4 21,200
M EALE 2t 320,000 260,000 60,000
= 160,000
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Al 80,000
402 RI2EXt20l 320,000 260,000 60,000
= 160,000
< 80,000
Al 80,000
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25 230z
B NESS 2E U M
ool MSAR U 2L e CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 80,000
< 40,000
Al 40,000
401 AlEHIZL £ 0HY| 160,000 0 160,000
2 80,000
& 40,000
Al 40,000
01 Al&H| 160,000 0 160,000
OHIEAN LN WEOY S B
160,000,000 160,000
2 80,000
& 40,000
Al 40,000
HE23 AL XA 712,513 762,086 N49,573
2 21,000
J| 25,000
& 31,250
Al 635,263
SN 222l 500, 147 486,086 14,061
101 Q124 H| 235,044 201,332 33,712
04 JI2ZtHIZ2 2 NEES 235,044 201,332 33,712
ORI HA S3AHY|
68,720& * 17 » 26 x 7€ 212,620
O2}K MK BFAEY 2 A= 22,424
O=281Hd3 212,620,000& * 4.5% 9,568
OALEE 212,620,000 = 3.23% 6,868
OIAEE 6,634,000& * 8.51% 565
ONMTHEE 212,620,000 = 1.05% 2,233
onsaEgd 212,620,000& * 1.5% 3,190
201 et d| 246,683 247,502 A 819
01 AR 22l ] 88,531 97,390 N 8,859
ONEME 1,000,000& = 4004 = 23] * 95% 7,600
O23KEX 2223 16,872
O23REXN MPEsE L 22ES
1,500,000 = 6 A * 95% 8,550
O2aSEMX & (75w)
20,000 = 60N * 4oHA = 95% 4,560
O2sS XX & (50w)
6,000& * 400 * 442 * 95% 912
O3S EX EI=2D]
15,000 = 20000 * 95% 2,850
OFJHZ 1=
120,000& * 8% * 23] * 95% 1,824
O35 22l CCTVEHl SXESH (AEAs
s) 182,000,000& = 8/100 * 95% 13,832




AN 230 =n
b

IM: HESH BE L M
el MESE3 AL XA (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAMEAS XISt FAdEH
100,000& * 122 * 95% 1,140
O2M 222 M=
1,000,000& » 38 » 404 » 95% 11,400
CEEL PSS 33,469
OSZ25M HIAFL42
60,0003 * 23002 * 95% 1,311
O=ZZA 300,000& * 43 * 20H2 * 95% 2,280
(OFS-) BN EN
15,000& = 30m * 13| * 7IH 4 * 95% 2,993
OF 2= F-EN 1,080,000& * 5 A * 95% 5,130
OagiadstTe @XelAld 832 22
[ = 440,000& = 123] = 95% 5,016
OSZA RE2ES A5 242
2,750,000& 23| *» 95% 5,225
ORAHES =2 (S MEX)
130,0002! * 2JH A * 128 * 95% 2,964
ORAAHIBY +4+2 (28], AHSIIER)
230,000 = 20H * 128 * 95% 5,244
CELIETF-T-WESS_JNEEF I
90,000& = 12& » 95% 1,026
ORAHEY =2 (FZ A, FFHIALH
Al ) 200,000& = 128 = 95% 2,280
OS2 MR OHEAAE 22| 2,394
OMEANAE 22| =2
150,000& 128 * 95% 1,710
OEAAE JIE =2
60,0003 = 128 = 95% 684
02 8323l 158,152 150,112 8,040
O=23REX &MIIZ 72,180
Oagatd 1,500,000& * 12& 18,000
O=23&HM & X 1,800,000& * 128 21,600
O&Y3 KRa Xl 720,000 = 12& 8,640
OdTHS MY 720,000& = 12 8,640
Ogts+="=X 90,000& » 12& 1,080
OF=2=gd; 35,0008 » 12& 420
og=z=dd 300,000& » 12& 3,600
OL2el1E 100,000& » 12& 1,200
O¥F=ES4 Of2tx™H 50,000& = 12& 600
Osgs&0t 100,000& » 12& 1,200
OSEM 300,000& = 12& 3,600
OHIIAL=Z2 A2 A A2 300,000& = 12& 3,600
ORdEs M Z 20,0003 * 404 + 12 960
Os%s 20 AL SHZ
50,000& = 12& 600




2H: 230
B NESS 2E U M
Sl MESE BA X (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oMLY NSSIHERXE SHE
30,000& = 204 ~ 123 720
OYHZ 25T H5t4T 23
30,000& = 12& 360
OZYsIRIA &=E2= 140,000& = 12& 1,680
Osgs 20 43N 4523
30,000& = 12& 360
Ol2clnE A5d H+ER3
30,000& = 12& 360
OFEA dot=ER=3 10,0008 » 12&8 120
OHIZLECATAIZ HotxE23
30,000& = 123 360
OH=Z4d Xot==0lEEFES 40,0008 = 128 480
O=2MAlIE H=HI 25,272
OS2 EX (LA 40HA)
1,5603 = 10£ = 100€ = 5004 7,800
OZsts&X o2l
1,560& = 100£ * 100 15,600
O22A23MH X 2EHOI S XIHI
1,560& * 1,200£ 1,872
O3 A&EH R
7,000,000& = 7044 49,000
OXNZEZaM LIHAIAEH SMZ
475,000& = 12& 5,700
206 = Hl 4,500 4,500 0
01 M2 4l 4,500 4,500 0
O2iREN B8 %7
25,0003 = 50 = 23] 2,500
OFstsdA 228 Hz+2Y
10,0003 * 25 * 50%E * 23| 2,000
301 LeEBAF 13,920 13,200 720
12JE243 13,920 13,200 720
O2MAZB Ol 243
5,000& * 8JHA * 152 * 128 7,200
ORSIMES JHLHIE BAZ(2MAA)
20,000% = 3% 13| = 128 720
O=MESIZ = 60,000,000& * 10% 6,000
XA S==Xl 970 1,000 A30
307 gl2tol & 970 1,000 A 30
04 DIZHHALALSE E X 970 1,000 A30
O S==H A
1,000,000& * 12| * 97% 970
dxgn AU 9,700 10,000 A 300
307 21201 A 9,700 10,000 A 300
04 DIZHHALALSE E X 9,700 10,000 A 300




2x: 280z
B NESS 2E U M
Celr ME23 #AL X CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFFESWAAU KN 5,000,000& * 23| * 97% 9,700
HFEFsds3A 3,880 4,000 N 120
307 QI2t0| & 3,880 4,000 N 120
04 QIZISHALAIE B2 X 3,880 4,000 N 120
OF3F=sd3d 4,000,000& * 13| * 97% 3,880
A= JzdH 7,760 8,000 N 240
307 QI2t0| ™ 7,760 8,000 N 240
04 QI2tSHALAIE E &= 7,760 8,000 N 240
OJlzH AL 8,000,000& * 13| * 97% 7,760
A7z S5 o AAH 15,714 16,200 N 486
307 QI2t0| M 15,714 16,200 N 486
02 DIZtZAAMEE X 15,714 16,200 N 486
Oz 2 16,200,000& * 97% 15,714
MO SH2 Al 13,095 13,500 N 405
307 212t01 & 13,095 13,500 N 405
02 DI2ZtZ AAMEE X 13,095 13,500 N 405
OMUeEna 13,500,000& * 97% 13,095
OE 8=2ZAUE 6,790 7,000 N 210
307 QI2t0| ™ 6,790 7,000 N 210
04 QI2SHALAIE B &= 6,790 7,000 N 210
OXHE d=ZAUS 7,000,000& * 97% 6,790
2ol JIEA 3,686 4,000 N 314
307 QI2t0| ™ 3,686 4,000 N314
04 QI2tSHALAIE E &= 3,686 4,000 N314
O22&n Jlzd 3,800,000& * 13 * 97% 3,686
Zolstn SXUA 5,820 6,000 A 180
307 212t01 & 5,820 6,000 A 180
04 QIZHSHAFAIE 2 X 5,820 6,000 A 180
O22&n SMUAM  3,000,000& * 23 * 97% 5,820
Zosn Tofdy Wak2It 3,880 4,000 N 120
307 212t01 & 3,880 4,000 A 120
02 DI2ZtZ AAMEE X 3,880 4,000 N 120
O29&n T 2dA 4,000,000& * 97% 3,880
ZAHZE XSG ST A 23,571 27,000 N 3,429
307 QI2t0| M 23,571 27,000 N 3,429

04 QIZHEHALALE B = 23,571 27,000 A 3,429
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2H: 230
M 254 84
Sl 2SR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 13,516,433
ot Ed 635,420 628,000 7,420
FFA G254 = 551,900 552,000 A 100
201 £B-2dH| 1,900 2,000 A 100
01 At 22l 1,900 2,000 A 100
O3 82 & M=
2,000,000& = 95% 1,900
308 AAIEHHSOIA 550,000 550,000 0
1037/ 2S0HUHeSB S HAE ALS HI 550,000 550,000 0
OZ&Zstaty 43t =& 550,000, 000& 550,000
HEA HHA FHAHALS 73,720 76,000 A2,280
307 glz2tol & 73,720 76,000 A2,280
02 IZtEHAMHE X 73,720 76,000 A2,280
OHCID HEMEA QUM AL
76,000,000& = 97% 73,720
StRHEEZ SetitHe 29 9,800 0 9,800
201 £Br2%H| 9,800 0 9,800
02 =224l 9,800 0 9,800
OS2t AHel MIg(2, FxY)
90,000& * 5JH 4 * 12& 5,400
OEetit AHel &ddtsE 23 (=)
150,000& » 104 « 43 600
OEect0t Hel sXbl 3,800,000& 3,800
F3IIE AIE &= 6,470,400 3,303,000 3,167,400
= 50,000
s 1,360,200
< 480,000
Al 4,580,200
A2 SHE 245 X 15,000 15,000 0
402 RI2EX=20l A 15,000 15,000 0
01 2I2E 2 A B (KR ) 15,000 15,000 0
OALAILBAFHHI (AIEINA )X
15,000, 000& 15,000
M=2 BHuHE ZHALS 3,800,000 0 3,800,000
s 900,000
< 180,000
Al 2,720,000
401 Al HI K 2018 3,800,000 0 3,800,000
s 900,000
< 180,000
Al 2,720,000
01 A& HI 3,800,000 0 3,800,000




2H: 230
M BeaE 84
SR 2RI AL &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAFZFY EHWHE X4 AP (AE4l)
1,800,000, 000& 1,800,000
s 900,000
< 180,000
Al 720,000
OAZFY EHuHE =S A (2AHH])
2,000,000, 000& 2,000,000
Agoiete 2 =320ty 2 K& 1,200,000 2,300,000 A 1,100,000
< 300,000
Al 900,000
308 AHXIEHHSOIA 1,200,000 2,300,000 A 1,100,000
< 300,000
Al 900,000
10 37/ 2S0HUHeBHEAEALS I 1,200,000 2,300,000 A 1,100,000
OXYl|gte 2E =320ty =29
1,200,000, 000& 1,200,000
= 300,000
Al 900,000
Fatllzs SAUS 243} 500,000 340,000 160,000
308 XX EHH SOl A 500,000 340,000 160,000
1037/ 2S0HUHeS B EAE ALS HI 500,000 340,000 160,000
osS®&a1 22 H4HI(6,8,34,35,365)
500,000,000 500,000
APACHX], HALALE 2 THAEALS (&) 170,400 300,000 A 129,600
s 85,200
Al 85,200
308 MtXIEHSOIH 170,400 300,000 A 129,600
s 85,200
Al 85,200
10 B2 SUHUE3 LS A I 170,400 300,000 A 129,600
O=s82&10 388 ZH =AY 170,400, 000& 170,400
as 85,200
Al 85,200
MERSHAEH T8 (SF) 375,000 0 375,000
s 375,000
401 Al HIZ 201 I 375,000 0 375,000
s 375,000
01 A& HI 360,000 0 360,000
OZ2s YEESHWH =4E3AM
360,000,000 360,000
s 360,000
02 Zeltl 15,000 0 15,000
OZ2s Ma2stdle 283 A 15,000,000 15,000
s 15,000
2oitEs 2 2N 100,000 0 100,000




25 230z
M 2aE =4
Sl 2318 Al =S (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 50,000
Al 50,000
308 XHXIEH SO0l A 100,000 0 100,000
= 50,000
Al 50,000
10 212 SUHUSHE A EAE AT Y| 100,000 0 100,000
ORI 32 29 100,000,000 100,000
= 50,000
Al 50,000
24+=SCC20I0EE 2Y 310,000 0 310,000
308 NXICSHMSOIA 310,000 0 310,000
10 B 2SO USEANEAIS Y| 310,000 0 310,000
OEcCtOIOtEE 2dH| 310,000,000& 310,000
HFEUFMAC =48 2 29 4,109,800 4,309,800 A 200,000
HFEHUISGMASX] 29 9,800 209,800 A 200,000
207 I & 9,800 9,800 0
01 24| 9,800 9,800 0
OFFANSSINMYINENSt HIEBI 29
9,800,000 9,800
HEANSIIMIEANETET EH2 4,100,000 4,100,000 0
306 =2 4,100,000 4,100,000 0
o1 s 32 4,100,000 4,100,000 0
OHFANSSHMANSTHE 5013
4,100,000,000& 4,100,000
20 2sted 4,191,013 8,916,600 N4 ,725,587
HEZ2M 20y A =& 291,000 4,500,000 A4,209,000
307 2iz2to| A 291,000 4,500,000 A4,209,000
02 QIZ2IA AAIE E X 291,000 4,500,000 A4,209,000
©2021 E=30dld<y &AL =
300,000,000& * 97% 291,000
St=3202 29 1,129,000 400,000 729,000
307 2Iz2t0| & 1,129,000 400,000 729,000
05 QIZtR &2 1,129,000 400,000 729,000
ost=202 Y 1,129,000,000& 1,129,000
2022 AH 29 2,571,013 0 2,571,013
201 LBt | 2,551,013 0 2,551,013
02 22244l 2,551,013 0 2,551,013
O20Z22AH 29 22/H]
8,6202 x 21,732m = 12€ 2,247,959
OZ20Z2HAH 24 24 303,054,000& 303,054




2H: 230
M 254 84
el SN2sd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 20,000 0 20,000
01 A& HI 20,000 0 20,000
OsYEE =Z2e 892 20,000,000& 20,000
HEZ0 229 HAEIE(F 30HA) 200,000 0 200,000
307 eIzl & 200,000 0 200,000
04 QIZFHALAIH E = 200,000 0 200,000
OFS30H 222 HAEIY A
200,000, 000& 200,000
HH2LZH (2st0=1t) 121,163 111,870 9,293
Jl= &3l 121,163 111,870 9,293
Jl=dl 121,163 111,870 9,293
201 Let249] 63,548 43,640 19,908
01 At 22l 63,548 43,640 19,908
OJl2ge=8a=3H (JIE3H)
500,000 = 24" = 95% 11,400
CEELIE/ES=1-1p)
8,000& = 32% * 8% » 12& » 95% 23,348
OL = (23HM) 60,000& 180 10,800
OYAH (HIZH) 60,0003 * 4H » 75¢& 18,000
202 4dl 46,695 46,080 615
01 SLHOIYI 46,695 46,080 615
OJIEZ
20,0003 = 32 » 82 * 12& * 80% * 95% 46,695
203 YR =2t 10,920 10,800 120
01 I 22L =8 6,000 6,000 0
OJIEYH (42) 6,000,000 6,000
04 FN2ELRZTH| 4,920 4,800 120
OJ| & H(32¢!) 410,000& » 128 4,920




& AR E A A

20209 &= =0lat LB 23tz ~ 202
FAM: HENSDH
M MIHME AE
oelr M2HS 84 X (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==t 17,430,391 18,983, 181 A 1,552,790
J| 803,260
< 323,467
Al 16,303,664
MEHE & 14,090,212 14,785,124 A 694,912
J| 803,260
< 323,467
Al 12,963,485
HE2HE 24 XA 10,193,942 10,690, 324 A 496,382
= 190,000
Al 10,003,942
d2ME 54 - 24 2,143,586 2,074,752 68,834
201 2et24d] 1,900 2,000 A 100
01 At 22l 1,900 2,000 A 100
OZ2Y M=¢e ZEM MZ
100,000& * 2000 = 95% 1,900
203 YR =2t 3,000 3,000 0
03 AIEFAH S =AY 3,000 3,000 0
OAE HMEsdA=A 3,000,000& 3,000
307 gl2tol & 2,134,186 2,069,752 64,434
02 It S AHE L 1,127,481 1,112,000 15,481
O&=FFC X & 400,000,000 = 13l 400,000
OFFAM=3 XNE A 727,481
OFFA 8+ SHEX
120,000,000& * 13| * 97% 116,400
OHFA 2+BUS S4T
150,000,000& * 12  97% 145,500
OHZAl SMM2H Lotz
10,000,000& * 13| *» 97% 9,700
OFF=AXNOMLEEH K&
17,000,000& * 13| » 97% 16,490
Os=z2d=sdz &=H
323,700,000& = 12| » 97% 313,989
O&d=Msla =&
50,000,000& = 13| » 97% 48,500
O&=zAEMEUE &=H
25,000,000& = 12| * 97% 24,250
Od=sAHM=EU =X
5,000,000& * 13l » 97% 4,850
OMH & &d=Ua =&
9,280,000& * 13l * 97% 9,002
ONZUE 20t EUE] 38,800
-HI313 SXAIIXR SOt ENH S
18,500,000& * 13| * 97% 17,945




FAM: HENSDH
M MIHME AE
oelr M2HS 84 X (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-H39a8 S=AZUEY AHOAEAHS
21,500,000& = 13| » 97% 20,855
03 BIAHMNHE2IHIEE 1,006,705 957,752 48,953
OFFANHMES AARZ 29 1,006,705
OoJlzs 504,722,000 504,722
O=% 165,724,030& 165,725
Of=Rg=s 122,746,810& 122,747
Og =&l 7,340,000& 7,340
OXR=H A H| 32,760,000 32,760
O=U0otl 9,360,000& 9,360
Olis=¢¥ 1,819,440 1,820
OXsE=XNEAUE 14,190,000 14,190
Oget3l 148,040, 840& 148,041
402 RIZFXt20l ™ 4,500 0 4,500
01 2IZt Xt 2 AL E = (REM &) 4,500 0 4,500
OFFANAM=ES MR=2 =257 X
4,500,000& 4,500
AEXXE SE ANZEE 50,000 50,000 0
201 LBt 50,000 50,000 0
01 At 22l 50,000 50,000 0
OAXZ=E S8 AIZEE 50,000,000& * 12 50,000
HFAEI 2ZEHUAUSE 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 QIZFHALAIH B = 7,760 8,000 A 240
ON363 HFAEEI A2ZTEHLULAUS
8,000,000& * 13l = 97% 7,760
EFANEIXNNRNIAESSDESSWE NS 7,760 8,000 A 240
307 glz2+ol & 7,760 8,000 A 240
04 QIZFHALAIH E = 7,760 8,000 A 240
OHN28sl EFAMEINXUXN 7RANEEFSFWNESE
o E2ii3 8,000,000& = 13l = 97% 7,760
AT =2 U3 9,700 10,000 A 300
307 glz2tol & 9,700 10,000 A 300
04 QIZFHALAIH E &= 9,700 10,000 A 300
OM33al HF=AZH =2
10,000,000& * 13| *» 97% 9,700
EFAED BHEEZU S 14,550 15,000 A 450
307 glz2tol & 14,550 15,000 A 450
04 DI2HHALALSE E X 14,550 15,000 A 450
OHMZ23al HEF=AEI| EHAZUZ
15,000,000& * 13| » 97% 14,550




2N
X ZH -
L= B

el

= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EFANEI HNEHEEUE 17,460 18,000 A 540
307 gl2tol & 17,460 18,000 A 540
04 DI2ZHHALALSE E X 17,460 18,000 A 540
OHM223 HFAEIIXX HEUHEFIAUE
18,000,000& * 13| * 97% 17,460
EF=ANEI 203 8,730 9,000 A 270
307 21201 A 8,730 9,000 A 270
04 DIZHHALALSE E X 8,730 9,000 A 270
OM183 HFAEI 2EU3
9,000,000& * 13l » 97% 8,730
EF=ANEI =3 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 QIZFHALAIH B = 7,760 8,000 A 240
OHM18al HF=AHEI +=FUs
8,000,000& * 13l = 97% 7,760
EFAEI 2EZU3 14,550 15,000 A 450
307 glz2+ol & 14,550 15,000 A 450
04 QIZFHALAIH E = 14,550 15,000 A 450
OHM17al HFANHEI 2ZUs
15,000,000 * 13| * 97% 14,550
EFAED| HEU 3 11,640 12,000 A 360
307 glz2tol & 11,640 12,000 A 360
04 DI2HHALAISE E X 11,640 12,000 A 360
OHM13al HFAHEI| HtsUHs
12,000,000& * 13| » 97% 11,640
EFANEI HAAZX3 14,550 15,000 A 450
307 gl2tol & 14,550 15,000 A 450
04 DIZHHALALSE E X 14,550 15,000 A 450
OM108 HFAIEI| HAAZAIIWS
15,000,000& * 13| * 97% 14,550
HFAEI SEU3 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 DIZHHALALSE E X 7,760 8,000 A 240
OHM9sl HFAIEI REU3
8,000,000& = 12l = 97% 7,760
EFANEI| LA RAE NS 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 QIZFHALAIH B & 7,760 8,000 A 240
OXMb5sl HFAIEI M4AXGAEHUE
8,000,000& * 13l = 97% 7,760




EM MERS
g MME &S

g4 d2Hs 84 XY (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EAIZEE B2 S 14,550 15,000 A 450
307 gl2tol & 14,550 15,000 A 450
04 DI2ZHHALALSE E X 14,550 15,000 A 450
OHM73 H=AIZH &3
15,000,000& * 13| * 97% 14,550
FFANBINXNNBELd =23 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 DIZHHALALSE E X 7,760 8,000 A 240
OHM22sl EFAEIIXX =23
8,000,000& * 13l » 97% 7,760
EFANZTH F4A4E kR0 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 QIZFHALAIH B = 7,760 8,000 A 240
OHNB3 HFAEH R44 OF2US
8,000,000& * 13l = 97% 7,760
E=2E =2 & THAUE = 8,730 9,000 N 270
307 glz2+ol & 8,730 9,000 A 270
04 QIZFHALAIH E = 8,730 9,000 A 270
0s=28 &= 2 AEHAUS KA
1,500,000& * 63 * 97% 8,730
S AN 14,550 15,000 A 450
307 glz2tol & 14,550 15,000 A 450
04 DI2HHALAISE E X 14,550 15,000 A 450
©2020 = HXHH A= AFA HAEE
15,000,000& * 13| *» 97% 14,550
AR 8= =. 0.0 3U3=s7U= 24,250 30,000 A5,750
307 gl2tol & 24,250 30,000 A5,750
04 DIZHHALALSE E X 24,250 30,000 A5,750
OM14s ZX 8= =. 0.0 3043 =7U3
25,000,000& = 13| » 97% 24,250
FEdEH) d g4 U= 38,800 40,000 A 1,200
307 21201 A 38,800 40,000 21,200
04 DIZHHALALSE E X 38,800 40,000 A 1,200
OM17s HIMANM)| B2 ==UE
40,000,000& = 13l = 97% 38,800
318 H=0I2tEH S 17,460 18,000 A 540
307 21201 A 17,460 18,000 A 540
04 QIZFHALAIH B & 17,460 18,000 A 540

O3.12 &= DtAdEU 2
18,000,000& = 13| * 97% 17,460




2N
X ZH -
L= B

el

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
d=2d0Ld2SEL=AUS 14,550 0 14,550
307 gl2tol & 14,550 0 14,550
04 DI2ZHHALALSE E X 14,550 0 14,550
ONb54sl E=dHed=TSEL=2US
15,000,000& * 13| * 97% 14,550
SIRMESR0 303 19,400 20,000 A 600
307 Qiz2tol & 19,400 20,000 A 600
04 DIZHHALALSE E X 19,400 20,000 A 600
OM193 =2HSR0U =032l
20,000,000 * 13 * 97% 19,400
eI MANEUHE 2203 24,250 25,000 AT750
307 21201 A 24,250 25,000 AT750
04 QIZFHALAIH B = 24,250 25,000 AT750
O=t&ll H4atel 8=2AMEUHY L=Ual
25,000,000& * 13 * 97% 24,250
Mr.YMCA &2 0H3l 29,100 0 29,100
307 glz2+ol & 29,100 0 29,100
04 QIZFHALAIH E = 29,100 0 29,100
ORMI502] Mr. YMCA &2 (3l
30,000,000& * 13| * 97% 29,100
EFAXNIHNHAAT S A=A 48,500 50,000 A 1,500
307 glz2tol & 48,500 50,000 A 1,500
04 DI2HHALAISE E X 48,500 50,000 A 1,500
OM162 H=HI =MHAAEISASZH
50,000,000& * 13| » 97% 48,500
FEI H=2REUS 240,000 240,000 0
< 120,000
Al 120,000
307 glz2tol & 240,000 240,000 0
< 120,000
Al 120,000
04 DI2HHALALSE E X 240,000 240,000 0
ON133 HEI H2R=UI
240,000,000& * 13 240,000
< 120,000
Al 120,000
HEsgd3adEI d=2AAUHE 58,200 0 58,200
307 gl2tol & 58,200 0 58,200
04 DIZHHALALSE E X 58,200 0 58,200
OHM158 HS8IASHEI E=AAUS
60,000,000& = 13| » 97% 58,200




EM MERS
g MME &S

el dEMs 84 XA (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S ZHf MEt=E AFANLE=AUE 14,550 0 14,550
307 gl2tol & 14,550 0 14,550
04 DI2ZHHALALSE E X 14,550 0 14,550
O3 & Mst=3 AN AHUS
15,000,000& * 13| * 97% 14,550
=X MAH 3728 dFEEZ U 370,000 0 370,000
< 70,000
Al 300,000
307 21201 A 370,000 0 370,000
< 70,000
Al 300,000
04 DIZHHALALSE E X 370,000 0 370,000
©2020 EFZX NMAREZEFEEZUS
370,000,000& * 12l 370,000
= 70,000
Al 300,000
AyEs JJIR 84 6,917,966 7,703,572 A785,606
201 Let24d]| 159,369 176,033 AN 16,664
01 At 22l 665 17,050 216,385
o2s® ®= ¥ 2 25 4+
70,000& = 100H = 95% 665
02 =224l 152,704 153,983 21,279
OXFER2sEIIR =429 51,840
OdIl= 90,000& = 8= = 12& 8,640
OZAItAZE 180,000& * 9= = 12& 19,440
OZeldl 220,000& * 95 » 12& 23,760
OHtHaE dEN=S2 2¢ 2,400
O&Il= 180,000& * 12& 2,160
Ododl=Ez 20,000& = 123 240
CHEHFTZEMAZE AIBZ 21,000
OLBAFAE (MUIHAIZZ)  1,400,0008 + 12€ 16,800
OZ NI AFE (AIHAIE Z)  350,0008 + 128 4,200
OFALZHSH 29 7,800
ONIIe3 500,000& = 12& 6,000
Q&dt==ER23 50,000& = 12& 600
Oofar&dl 100,000& » 12& 1,200
OSURE=A(ZE2SZEUH) 2222
500,000& = 123 6,000
OZBEEHYE 2I(EEAXEHHU)
150,000& » 12&8 1,800
Ost=aHY3 Y| 3,000,000& * 6&= 18,000
OFHE AZH(Z2, AT AMAHL) 1,814
(OFW E=2 9163 * 2204 = 3L = 3 1,814




2A: Msnxt
M ASHE &=
ool H2HS 84 N (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o2sy® dsxd d=hl
1,275& = 64 = 252 1004 = 12& 22,950
O2sE MSXE USIHA 60,000& = 10CH 600
ORSs MY FHEE 750,002 * 10CH 7,500
OSSRHSIY BAWLLLS
50,0008 * 10CH * 23 1,000
0= 2 EUF RN 224
1,000,000& * 1094 & 10,000
03 S ALS H b 6,000 5,000 1,000
ONBSEAINR BB Y HA
6,000,000& * 13 6,000
206 M= Hl 267,450 267,450 0
01 X bl 267,450 267,450 0
ot =2 =dHs8E L FH| 50,000
Ostas 258 40,000& * 258 * 508 50,000
O2c=® =d¢ L ZIES 33,600
OEcsts 65 800,000& * 65 = 7& 33,600
O0OZELR E2HESE ¢ &l 26,000
O=&s 138 40,000& » 13Z * 508 26,000
OHAEZR 28 L HIES 21,600
OHRAEZES 123 60,000 * 12 = 308 21,600
ONZEIOAZR 28 L FIIES 6,250
O&Jlsts 55 25,0008 * 5& x 50& 6,250
O&L AMBR =& Y FHI 20,000
OaES 105 40,0008 * 105 * 508 20,000
OWXLEZE EHEE L Fl 50,000
O3sltats 255 40,000 * 25& * 508 50,000
OUBIAIZEE EHEE L FH| 54,000
AES 303 40,000& * 30& * 458 54,000
oNgsdd EHEE L & 6,000
OHES 1558 100,000& * 156& * 48 6,000
301 dEtEdZ 6,486,047 6,480,239 5,808
Vo=t - 2sEsSEA2 6,486,047 6,480,239 5,808
ossE ¢(d=2) 3,755,700
OoZ= 61,800,000& » 6Y 370,800
ozs 55,500,000 = 3Y 166,500
O=ZX 52,500,000& » 49 210,000
O=ZAX 48,300,000& * 24 96,600
OEdolyd 42,000,000 » 14 42,000
O = 65,100,000& * 4Y 260,400
Oz 55,200,000& * 5Y 276,000
o= 45,900,000& = 104 459,000




2N
X ZH -
L= B

el

M=
AL A
2

S
s xs
2 R

&l
=4 X

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Od % 42,000,000 = 35H 1,470,000
o= 33,300,000 * 4%Y 133,200
O 49,200,000& = 2™ 98,400
OH = 45,600,000& * 3H 136,800
OHlEA NS EHEHAZ2

500,000 * 6Y = 12& 36,000
OXNES2SHIR EHNESZ 46,800
OoZ= 300,000& *~ 9Y¥ * 12& 32,400
O=2ZX 150,000& * 8Y = 128 14,400
o228 =&l 568,800
Oz=4Altl 540,000& * 79¥ = 12&€ 511,920
O==t] 35,000 » 79Y = 12& 33,180
O2+AH] 25,000& = 79¥ » 12& 23,700
(OFSPARSE=N:] 70,000 » 79Y * 302 165,900
oz &d| 60,000& » 799 * 103 * 6L 284,400
OYatLaz 1,000,000& = 30 * 103 300,000
oO=2JtEXE 126,000
oz=s 500,000 * 6YH = 128 36,000
Od % 500,000& = 12 * 128 72,000
O=2X 250,000& * 6Y * 12& 18,000
O e A2 180,000,000 * 13 180,000
OMEE= S 20,000& = 79 * 12& 18,960
OAdX = L MAHCS =IOt
30,000,000 = 43| 120,000
OXE2sEIIR ¥FEENMNE 29
1,000& * 900P * 79H 71,100
OXNE2SEIIR NXHH B2 709,387
OEAAZ 3,755,700,000& * 1/12 312,975
OHLEH 3,755,700,000& * 3.23% 121,310
O&IAEE 121,309,110 * 8.51% 10,324
O=30d=82=2 3,755,700,000& * 4.5% 169,007
onggsEassfdg=a 3,755,700,000& * 1.5% 56,336
Ot ol 2AEE 2
3,755,700,000& * 1.05% 39,435
ogXed=2e L =H| 14,000
Oogtst=2l 9& 200,000& = 10& » 79H 14,000
OME &2dH & HIIES 22,000
OsE22 55 200,000& * 65 * 114Y 13,200
O0tetEs e 75 100,000& * 88 = 11¥ 8,800
OE2cd % L=l 11,200
ogst=e 78 200,000& * 885 * 7Y 11,200
O&EHE 1= 15,400
ogst=2 68 200,000& * 7& = 119 15,400




EM MERS
g MME &S

g4 d2Hs 84 XY (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHAZ SR I =l 16,000
LBet=2 7E 200,000& = 88 = 10H 16,000
ONHEEZZE 1=l 9,600
Ogs=s2d 78 200,000& * 85 * 63 9,600
OFAIZ S T =H| 12,800
OMZ=F2 75 200,000& = 8% = 89H 12,800
OUWXL=ZF Il =l 14,000
Oogst=s2 9& 200,000 = 108 » 7 14,000
LBHAIA R T =l 24,000
OAA=2 93 200,000& = 108 = 12Y 24,000
405 TtabH S| 5,100 29,850 A 24,750
01 AL EFH S 5,100 29,850 224,750
oMgsas &l 5,100
OZF0tAMX EHI 700,000& =« 1CH 700
O&sA xg HE 1,650,000& = 1CH 1,650
OOALXI HIE 300,000& = 1CH 300
OOFALX A 300,000& = 2CH 600
OBtAlE =F DI 750,000& = 1CH 750
O & 200,000& * 1CH 200
o=z 900,000& =« 1CH 900
FHME =4 XA 1,028,645 1,135,004 A 106,359
J| 118,860
< 47,659
Al 862,126
0o M= 243t 707,149 605,084 102,065
307 2201 A 707,149 600,684 106,465
02 It S AHE L 255,129 217,740 37,389
OZMY s 28 2N
41,000,000& = 97% 39,770
OZMY =7ns 2
25,000,000& * 104 = 97% 24,250
OM14sl 8= HOUSHHMEUH &=d
7,000,000& = 12l = 97% 6,790
OHM12sl =28 MU =d
5,000,000& = 12l = 97% 4,850
O&= =o0tel sot8 M=sus &d
5,000,000& = 12l = 97% 4,850
OHM40s =2 HOHY MsSUHa =™
24,000,000& = 13| » 97% 23,280
OM14s sS=2HMHA S HMEUH &
50,000,000& * 13|  97% 48,500
OoOd=tsa &I &sAH XA
15,000,000& * 12| » 97% 14,550




AN HELSH
x

M ASHE &=
Sl HAMS SH N (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
0OF=sYE 258 428 &
15,000,000 * 13| * 97% 14,550
OFML LAH4 SN
500,000& = 8 =~ 58 * 97% 19,400
OFMHOIMENFXNEAN HRMEAL(2ESEX
Hl, MY, A S) 54,339
odzx¢ 2,975,000 2,975
o=2s52Y 100,000& * 79¥ = 128 8,400
OFHZAH| 130,000& » 7Y x 12& 10,920
OY &= 200,000& * 7Y = 23| 2,800
OAZI =&
8,590 * 7Y =+ 15AI2t = 12& 10,824
Od XHE A H| 55,010& » 7H * 5 1,926
O MYl 70,000& ~ 798 « 12& 5,880
O=2UWol 20,000 * 7 = 15L 2,100
o428 s 8,514,000 8,514
03 AAHNNEESIHIES 452,020 382,944 69,076
OFFA HUHCAES 294 452,020
oJeas 255,751,000& 255,751
o< 47 ,266,000& 47,266
O=cl=MH] 111,933, 000& 111,933
OUXSH=ESKNEUE 7,890,000& 7,890
OJ|&HR=XH| 2,400,000 2,400
OB LR HAH| 3,600,000& 3,600
Ol 7,200,000 7,200
O] 15,980,000& 15,980
HFEAEDI ZoHIIAZ2Z0 3 7,760 8,000 N 240
307 212t0| & 7,760 8,000 N 240
04 QIZHSHALAIE B2 X 7,760 8,000 N 240
OHMB63 HFAIFI| HOHQ MA=ZCHS
8,000,000 = 13| » 97% 7,760
HEAED EOHO MEXE 20U 7,760 8,000 N 240
307 212t0| & 7,760 8,000 N 240
04 QIZISHALAIE B2 X 7,760 8,000 N 240
OHM113 HFAIEI HOHCS MEXE SRS
8,000,000& * 13| * 97% 7,760
HEAEDI ZOHAESZUF 11,640 12,000 A 360
307 QI2t0| ™ 11,640 12,000 A 360
04 QIZHSHAFAIE 2 X 11,640 12,000 A 360
O M08 HFAIEDI HOHQ FF2UI
12,000,000& * 13| * 97% 11,640
HE=ANEI| HOHAHOIE= U 11,640 12,000 A 360




A
CANEHE

el

X ZH
S =

=

EImE=tn!
as
ZHUHME B4 XY

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 11,640 12,000 A 360
04 DI2HHALALSE E X 11,640 12,000 A 360
OHMB8al HFAZI HoHe HoESUHE
12,000,000& * 13| * 97% 11,640
EFANEI s0tel =3l 5,820 6,000 A 180
307 21201 A 5,820 6,000 A 180
04 DIZHHALALSE E X 5,820 6,000 A 180
OHM53 HFAIEI =0t U3
6,000,000& = 12l = 97% 5,820
X d=F0C E=UH3 21,340 22,000 A 660
307 21201 A 21,340 22,000 A 660
04 DI2FSHALAIE 2 = 21,340 22,000 A 660
OM108 X &= H0He E=SUH3
22,000,000& * 13 * 97% 21,340
X ASZOHCIALZHE 19,400 20,000 A 600
307 21201 A 19,400 20,000 A 600
04 QIZFHALAIH B = 19,400 20,000 A 600
OHM2sl X 8= HOHS AHHU=
20,000,000& = 13| » 97% 19,400
O MEX XX B X 211,176 181,920 29,256
| 101,388
< 43,915
Al 65,873
307 glz2+ol & 211,176 181,920 29,256
| 101,388
< 43,915
Al 65,873
02 QAFHAANGFEE 211,176 181,920 29,256
O MEXH =KX B X
52,794,000 * 43| 211,176
| 101,388
= 43,915
Al 65,873
OOl AL XHIRSHAIY K& 24,960 0 24,960
| 17,472
< 3,744
Al 3,744
301 LEEAZ 24,960 0 24,960
| 17,472
< 3,744
Al 3,744
01 MEIBZE 05z 24,960 0 24,960
OO Ax=2x 0l2d X&
24,960,000 24,960




2M: H

g MME &S
¢ HoeldE 84 XA

SWS
X

=

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Pl 17,472
& 3,744
Al 3,744
MEHs 2435 2,867,625 2,959,796 N92,171
J| 684,400
= 85,808
Al 2,097,417
ALXHISHAE K& 481,120 481,120 0
J| 336,784
o= 72,168
Al 72,168
301 et X = 481,120 481,120 0
Dl 336,784
= 72,168
Al 72,168
01 AR E & A 462 481,120 481,120 0
oOAEZ=2AX 0l &
120,280,000 * 43| 481,120
J| 336,784
= 72,168
Al 72,168
UBH(A UM )M EH = X E XHHH X 422,352 398,832 23,520
J| 202,776
= 5,040
Al 214,536
307 2Iz2t0| & 422,352 398,832 23,520
Dl 202,776
o=t 5,040
Al 214,536
02 DIZHEAAIE E X 422,352 398,832 23,520
OLBtME = Xl &= Xt X
105,588,000 * 43| 422,352
J| 202,776
& 5,040
Al 214,536
HEAMAM ME M=K = XHEH X 301,680 313,368 A 11,688
Dl 144,840
= 3,600
Al 153,240
307 212t0| & 301,680 313,368 A 11,688
J| 144,840
o=t 3,600
Al 153,240
02 QIZHEAAIRE E X 301,680 313,368 A 11,688
oA ME =X = Xl X
75,420,000 * 43| 301,680
J| 144,840
& 3,600




miE=ni

=

? M=

=

=

mw ™
0 0loh

st

(o
HE .G (3H) - HEAY - B %Ei HD=2
Al 153,240
ME=F XS X HE X 30,468 28,500 1,968
oI2tol & 30,468 28,500 1,968
DIZFAMAIEE X 30,468 28,500 1,968
OXMFTAMEHY S S RHIX (HE)
7,617,000 = 43| 30,468
MEH=E 4 K& 342,090 337,976 4,114
307 S12t0| & 342,090 337,976 4,114
DIZFAMAIE E X 342,090 337,976 4,114
OM30s =E=E MEHN=sU3
85,000,000& = 13 * 97% 82,450
©2020 SE=T XA £ T3 &) MEH=S
ES8s =4d 26,000,000& * 13 * 97% 25,220
02020 MEHE =34 d=203F &4
10,000,000& * 13 * 97% 9,700
OHN153 EHET 2K M =sUa s
20,000,000 = 18 = 97% 19,400
©2020 EFAlD2SESTHIIE AMEE I
2,000,000 * 97% 1,940
OHM213 =HE2CHSEH 2LR0201=2
s A 4,000,000& * 13| * 97% 3,880
02020 ==SMNsESHaLUE &8
7,000,000& * 13| * 97% 6,790
©2020 MENSX X (25H) MM ALE (A
24g, FAIAY, FEEI S)
189,800,000 189,800
©2020 EFANMESE ALK FAS
3,000,000& = 13| * 97% 2,910
MET S AIAASE ALY 404,490 443,000 A 38,510
oIz2to A 404,490 443,000 A 38,510
02 QIZHA AAIE E X 404,490 443,000 A 38,510
O=0IMHE100 EFHESHEH 2
50,000,000& * 97% 48,500
©2020 MEH= | 29
360,000,000 * 97% 349,200
OMEH=wWA 52 WA
7,000,000& * 97% 6,790
IS ALK 87,300 90,000 A2,700
oIz2tol A 87,300 90,000 A2,700
DIZ2FSHAFALRY E X 87,300 90,000 A2,700
OM=E ALK& 10,000,000 * 93| * 97% 87,300
HFEANAHESHD) MEHNET S3EUHE A& 39,285 45,000 N5,715
307 2Iz2to| & 39,285 45,000 N5,715
04 SIZ2ISHAAISH E & 39,285 45,000 N5,715




AN HELSH

M MIHME AE
Ee: MEHs 245t (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 as= HlnE2
Ol & o
OHF=AEIH) MEHNSZSSE U3l (253])
40,500,000& = 97% 39,285
SEHEZANAI & STEHIF) MdedMslta X 19,400 0 19,400
307 gl2tol & 19,400 0 19,400
04 DIZHHALALSE E X 19,400 0 19,400
©2020 SESEXAMI & TSI dEH=s
S=2E8U=2 |X 5,000,000& = 43| = 97% 19,400
AN MEHs S0 11,640 12,000 A 360
307 21201 A 11,640 12,000 A 360
04 QIZFHALAIR B & 11,640 12,000 A 360
OM73 H=AZEI HEM=E E2U3
12,000,000 * 13 * 97% 11,640
HFAED MEH=s HOE=SUHSE 5,820 6,000 A 180
307 21201 A 5,820 6,000 A 180
04 QIZFHALAIH B = 5,820 6,000 A 180
OXN6sl HFAIEI MEHM=E ANOESUHE
6,000,000& * 13l = 97% 5,820
EFAED MEHs 8&72U3 9,700 10,000 A 300
307 glz2+ol & 9,700 10,000 A 300
04 QIZFHALAIH E = 9,700 10,000 A 300
OM73 HF=AZEI| M= §F1UE
10,000,000& * 13| *» 97% 9,700
EFAED HEHE SJ1cUHs 5,820 6,000 A 180
307 glz2tol & 5,820 6,000 A 180
04 DI2HHALAISE E X 5,820 6,000 A 180
OHM7a EFANEI H2H=E SIEUH
,000,000& * 13| * 97% 5,820
EFANEI MEH=S O 9,700 10,000 A 300
307 gl2tol & 9,700 10,000 A 300
04 DIZHHALALSE E X 9,700 10,000 A 300
OM73 HFAZEI| MEHMSE OFFUE
10,000,000& * 13| * 97% 9,700
FFANFI MEHE S2U3E 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 DIZHHALALSE E X 7,760 8,000 A 240
OHM63 H=AZEI MEM=E E2U3
8,000,000& * 13l » 97% 7,760
FFAED MEHs Od2E=ZUHS 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 QIZFHALAIH B = 7,760 8,000 A 240




AN HELSH

g MME &S
A

Ee: MEHs 245t (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHM6sl HFAZEI MEH= dct2ESZUHE
8,000,000& = 13l = 97% 7,760
EFANEI MEH=S 32 WA3ct0ldHa 5,820 6,000 A 180
307 gl2tol & 5,820 6,000 A 180
04 DIZFSHAIAIRI 2 = 5,820 6,000 A 180
OM7a HFAZEI| MEHE d=2MWH3cH0lE
=l 6,000,000& = 12l = 97% 5,820
FFANFI MEH=E dUAHE 8,730 9,000 A270
307 21201 A 8,730 9,000 A 270
04 QIZFHALAIR B & 8,730 9,000 A270
OM6sl HFAIEI MEM=E HLUAME
9,000,000& * 13l * 97% 8,730
FFAED MEds =403 7,760 8,000 A 240
307 21201 A 7,760 8,000 A 240
04 DIZFSHAIAIRI 2 = 7.760 8,000 A 240
OXNb5sl EFAIEI HEHMSE 22Uz
8,000,000& * 13l = 97% 7,760
EFANEI MEHE BHECIEHWS 14,550 15,000 A 450
307 glz2+ol & 14,550 15,000 A 450
04 QIZFHALAIH E = 14,550 15,000 A 450
OM6al HEFAFI HEMS HELEHU S
15,000,000 * 13| * 97% 14,550
EFANEI dEH=E s7UHE 5,820 6,000 A 180
307 glz2tol & 5,820 6,000 A 180
04 QIZbBHAIAIRI 2 = 5,820 6,000 A 180
OHM6sl HFAZEI MEME =7UE
6,000,000& = 13l = 97% 5,820
EFAEH MEMS 0IAHE=ELHE 6,790 7,000 A 210
307 gl2tol & 6,790 7,000 A 210
04 DIZFSHAIAIRI 2 = 6,790 7,000 A210
OM7a H=AZH MEM= DIAHEFHLH
3 7,000,000& = 13l = 97% 6,790
FFATH MEHE (dHUATE 5,820 6,000 A 180
307 21201 A 5,820 6,000 A 180
04 DIZHHALALSE E X 5,820 6,000 A 180
OHM72 EF=AZH HEMF GHLHLI AU
6,000,000& * 13l * 97% 5,820
EFANTH MEXHE 703 5,820 6,000 A 180
307 21201 A 5,820 6,000 A 180
04 QIZFHALAIH B = 5,820 6,000 A 180
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X ZH
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H=sus

x=
=
MENE 2435

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHM73 EFAEH MEM=E 20U
6,000,000 * 13| * 97% 5,820
HF=AN MEM=UE 82,935 85,500 N2,565
307 2Iz2t0| A 82,935 85,500 N2,565
04 SIZ2HSHAAISH E & 82,935 85,500 N2,565
OM73 EFA MEMFUS
85,500,000& = 13 * 97% 82,935
HFA MEXHSHHZE SHOIE=AH 7,760 8,000 A 240
307 212t0| & 7,760 8,000 A 240
04 CIZ2tSHALALS B X 7,760 8,000 A 240
OM73 HEF=Al MEMSAHAHZE SOIE=EH
8,000,000& * 13| * 97% 7,760
2020 3= S48 2&X I8 EF NS d2Uig 14,550 15,000 AN 450
307 QI2t0| & 14,550 15,000 AN 450
04 CIZ2tSHAPALS B = 14,550 15,000 AN 450
02020 3= 54 2&X JIE 3= NEZ A
EguiE= 15,000,000& * 13| * 97% 14,550
HZ=A 1-2l1 39,770 41,000 AN 1,230
307 2iz2to| A 39,770 41,000 N 1,230
04 CIZ2tSHALALS B = 39,770 41,000 A 1,230
©2020 B =Al |-2l2(63l)
41,000,000 = 97% 39,770
EEZH (& A 10,000 10,000 0
& 5,000
Al 5,000
307 2iz2tol & 10,000 10,000 0
& 5,000
Al 5,000
04 QIZ2tSHAFALS B X 10,000 10,000 0
©2020 E=s¢ UH&EH 10,000,000 = 13| 10,000
o 5,000
Al 5,000
I EHSAMHAAMY MZ2E=]0H3E 43,650 45,000 A 1,350
307 QI2t0| & 43,650 45,000 A 1,350
04 CIZ2tSHALALS B = 43,650 45,000 A 1,350
OHM11a &X , HJAMAMY d=2Z=Z03F
5,000,000& * 13| * 97% 43,650
MRV HIJMHAAMG QF MEH = HHEEUHS 21,825 22,500 AB75
307 gizto| A 21,825 22,500 AB75
04 QIZ2tSHALALS B = 21,825 22,500 AB75
OHM63 X HIAMHAAY F MEHYSF HIE
OIS 3 22,500,000& = 13 = 97% 21,825
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AN HAMEHE M= Ol=HLANE 9,700 10,000 A 300
307 gl2tol & 9,700 10,000 A 300
04 2I2tSHAALH 2 & 9,700 10,000 A 300
OHM7al AX , HIHMAMY MI0I=HL AU
10,000,000& * 13| * 97% 9,700
AN HAMF M MEXSs dIHUAMSE 25,220 27,000 21,780
307 21201 A 25,220 27,000 A 1,780
04 DIZHHALALSE E X 25,220 27,000 A 1,780
©2020 MK, HAMANY MBS MIHLA
sl 26,000,000 = 13| * 97% 25,220
FAMPH HHSOetENS 232,800 240,000 AT7,200
307 21201 A 232,800 240,000 AT7,200
04 DIZFEH AL AL 2 & 232,800 240,000 A7,200
OHM18s HAMIN HESOHENHS
240,000,000 * 13 * 97% 232,800
ATAE 22 HAEE 26,190 28,000 A 1,810
307 glz2+ol & 26,190 28,000 A 1,810
04 QIZFHALAIH E = 26,190 28,000 A 1,810
©2020 M X ALY SAZ HAEE
27,000,000& * 13| * 97% 26,190
AT H=ZAHSE 36,860 40,000 A 3,140
307 glz2tol & 36,860 40,000 A 3,140
04 DI2HHALAISE E X 36,860 40,000 A 3,140
OHM7a AXH = Z&U
8,000,000& = 13l = 97% 36,860
AT d==2L s 32,010 35,000 A 2,990
307 gl2tol & 32,010 35,000 A 2,990
04 QIZFH AL AR 2 & 32,010 35,000 ~2,990
OM133 X d==22U3
33,000,000& = 13| » 97% 32,010
S LU 27,160 30,000 A2,840
307 21201 A 27,160 30,000 A2,840
04 DIZHHALALSE E X 27,160 30,000 A 2,840
OHM17al 55 A& 52U
28,000,000& = 12| * 97% 27,160
S5 dESHS0FRUS 9,700 10,000 A 300
307 21201 A 9,700 10,000 A 300
04 QIZFHALAIH B & 9,700 10,000 A 300
OHM128 &= M= OF2U =
10,000,000 = 13 * 97% 9,700




FAM: HENSDH
M x5S UEME N
gel: x5S usME X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=S WUEME X3 3,113,600 3,977,600 A 864,000
s usME XA 3,113,600 3,977,600 A 864,000
st WA HAA 539,000 596,000 A57,000
308 XtXIEHHSOIA 539,000 596,000 A57,000
08 I 20UEtE=x 539,000 596,000 A 57,000
ONNESFZIMLAS 539,000, 000& 539,000
Ch=2RA AsMY X2 778,000 1,355,000 A 577,000
308 AHAIEHHSOIA 778,000 1,355,000 A 577,000
08 WEIIA0HetE = 778,000 1,355,000 A577,000
OU==wA AFAY XA(US) 778,000
Os=so4gEEN 544,000,000 544,000
Oo=sg=x 234,000,000 234,000
HAZOHAME K& 199,600 199,600 0
308 XX EHSOIA 199,600 199,600 0
08 WEIIA20HStE = 199,600 199,600 0
OHAIAHAME XA 199,600
og3x 1,700,000& * 100 170,000
OM&st&Hl 29,600
- BrSh A 180,000& * 95%H 17,100
-NAS et 2,500,000& = 59H 12,500
Asd 20 X 300,000 300,000 0
308 XX EHSOIA 300,000 300,000 0
08 WEIIA0HEtE = 300,000 300,000 0
oXnsd 38 N (s, 80 8)1)
100,000,000& * 3JH 300,000
AA=sIIH 29 XN& 92,000 92,000 0
308 AHAIEHHSOIA 92,000 92,000 0
08 WSIIZ20HetE X 92,000 92,000 0
OXNREIIH 28 XA 2,000,000& = 4674 1 92,000
dENEKF 22X 1,100,000 1,200,000 A 100,000
308 XXM SO0l A 1,100,000 1,200,000 A 100,000
08 WEII20HStE = 1,100,000 1,200,000 A 100,000
oO¥=nEIF 298 XN 1,100,000, 000& 1,100,000
MESIIH X 105,000 135,000 230,000
308 XXIEHH SOl A 105,000 135,000 230,000
08 WISt E=x 105,000 135,000 230,000
OMERXE XA 105,000
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MM xEZEES U=ME NE
H: x5S UEME I (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMESIXK WMWY
2,500,0008 * 4204 & 105,000
Ol =4 X 142,520 138,240 4,280
oIt =4 XA 142,520 138,240 4,280
CHEHA Al MaBetg) 38,800 40,000 AN 1,200
307 QI2t0| & 38,800 40,000 A 1,200
04 CIZ2tSHALALS B X 38,800 40,000 AN 1,200
OCHBIQ Al M Mstets]
40,000,000 * 13 * 97% 38,800
ZololdMT XA 23,280 24,000 ANT20
307 QI2t0| ™ 23,280 24,000 ANT20
02 AI2tAAMAIE E =X 23,280 24,000 ANT20
OB T 24 XS
24,000,000 = 1JHA * 97% 23,280
St ZEZ gt T2 ) 58,440 60, 240 A 1,800
301 et A= 240 240 0
09 HAIAHI XIS 2 240 240 0
OstuZE XNAHE2g AH|
8,000& * 15 x 23] 240
307 2iz2to| A 58,200 60,000 A 1,800
02 QIZ2IA AAIE E X 58,200 60,000 A 1,800
O0IIt=E 8NESE Y ¢ A8 nN=
30,000,000& = 1JHA * 97% 29,100
OsnNZEH AR Tz ) 29
30,000,000& = 1A * 97% 29,100
HAadE @223 XZE 22,000 0 22,000
201 Bt 22,000 0 22,000
03 A2 G H| 22,000 0 22,000
oOFAHE EHIXE 22,000,000 22,000
HMHEAH (MEnsW) 84,059 82,217 1,842
Jleddl 39,344 41,256 AN 1,912
Jl2 &4l 39,344 41,256 N 1,912
201 Bt 14,456 15,216 AT760
01 AP 22| H| 14,456 15,216 AT760
OJI2gesdssy (JI=&4l)
500,000& = 12% * 95% 5,700
o2l (J1=4Hl|)
8,000& * 12¥ = 8L = 128 * 95% 8,756
202 o4 | 21,888 23,040 AN 1,152
01 2L I 21,888 23,040 AN 1,152
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ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
©odl(2I=&Hl)
20,0008 * 129 % 8L * 128 x 95% 21,888
203 SR F & 3,000 3,000 0
04 EASHEYRFAH| 3,000 3,000 0
©J|&=M (1521 0] 6}) 250,000 ~ 12€ 3,000
ol =29y 44,715 40,961 3,754
oI d| 44,715 40,961 3,754
101 @124 H] 44,715 40,961 3,754
03 RIAHL*ZZXHE S 44715 40,961 3,754
0222 84 44,715
OJIE22(Ct212) 2,456,500 * 19 » 12& 29,480
o254+ 122,820 ~ 1 = 128 1,474
O3 &l 130,000 * 1¥ = 128 1,560
OY ZE I 1,228,290 ~ 1H « 23| 2,457
OxU2RE
17,020 = 30AI2F » 1 * 12& 6,128
OdIt8a=z 90,800& * 1 » 20¢ 1,816
OEsxE 100,000& * 1 = 128 1,200
O&dHAx¢ 50,000& = 14 = 12& 600
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SN BPIBDY
Mo BBNANE
el RRE CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Le-2d| 2,502 2,780 A278
01 At 22l 2,502 2,780 A278
O=tZAY CIGIIIAl 2ER23 % 3BAMEE X
g2 flgt =8 2,502
O=EAMIIEH 260,000& = 1J# = 95% 247
OZ2HEU 220,000& = 500 = 95% 1,045
O=AEX 21,0002 = 132HA * 95% 260
O3BANEE NEE RIE ==&
500,000& = 2H = 95% 950
SEAZLZAHOS SSAMY 40,500 48,000 AT,500
307 izl & 18,000 27,000 A 9,000
04 DI2HHALALSE E X 18,000 27,000 A 9,000
OO0l 22Z2LYH3) 18,000,000& 18,000
308 X XIEHHSOIA 22,500 21,000 1,500
07 X HH2LESE S 22,500 21,000 1,500
O=SFA2ZE2s SsAHI 22,500
Oo=2zd 5,000,000& 5,000
O=uzZd 4,500,000& 4,500
o222 A 4,000,000& 4,000
OHelged 7,000,000 7,000
O3 (E23) 2,000,000& 2,000
VOS2 55 ¢4 18,000 16,500 1,500
< 7,200
Al 10,800
307 212+0 & 18,000 16,500 1,500
< 7,200
Al 10,800
02 M AHE X 18,000 16,500 1,500
OTVH & "OtSUH2E=" YIAMY
18,000, 000& 18,000
< 7,200
Al 10,800
FFA 2282s 29 25,000 25,000 0
307 gl2tol & 25,000 25,000 0
03 BIAHNHE2IHIEL 25,000 25,000 0
OFFA 2ZE23 234l 25,000,000& 25,000
NS =Z3Ad+==H 627,750 645,000 A 17,250
201 Let24E] 14,250 15,000 AT750
01 At 22l 14,250 15,000 AT750
OHALE HHFA A=
2,500 = 6,000m = 95% 14,250
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 533,500 550,000 A 16,500
04 DI2HHALALSE E X 533,500 550,000 A 16,500
ONZEHE =H A==
550,000,000 * 97% 533,500
401 Al HI K 201 I 80,000 80,000 0
04 A2t A Al &I 80,000 80,000 0
OHALZE HHSFA =4 80,000
(OFS ES Py 2,000& = 15,000’ 30,000
OEXNEXSAM 2,000& = 15,000m 30,000
OF=x&E A2 &X 20,000,000& 20,000
2Z=ZEA N 1= 5,820 6,000 A 180
307 21201 A 5,820 6,000 A 180
02 QIAHFAAFEX 5,820 6,000 A 180
O2Z=ZEHAM &8 WS 6,000,000& * 97% 5,820
2ot A 2 519,138 467,360 51,778
J| 107,406
< 107,406
Al 304,326
201 £B-2dH| 20,390 20,390 0
J| 4,281
< 4,281
Al 11,828
01 At 22l 18,650 18,650 0
OZst 2 2HEA TCHOIA 22 2 2
6,900,000 6,900
J| 1,449
< 1,449
Al 4,002
OFst2ZoHEA 285 2
250,000& = 479H 11,750
Jl 2,467
< 2,467
Al 6,816
02 =224l 1,740 1,740 0
O3t 22H&AF THOlA 29l 1,740
OB Uil &I '3
100,000& * 12& 1,200
J| 252
< 252
Al 696
OFY2 Uils U Rz
45,000& = 12& 540
J| 113
< 113
Al 314
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HE: BPUATE
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 498,748 446,970 51,778
J| 103,125
< 103,125
Al 292,498
09 HALAHIX A S 7,050 7,050 0
O2ABEMN N\ S MHEH
7,050,000 7,050
J| 1,481
= 1,481
Al 4,088
12IJEEd=s 491,698 439,920 51,778
O=Zst2Zoi& A &Sl 491,698,000& 491,698
J| 101,644
< 101,644
Al 288,410
HFA S ZAMOIE 230 SHOIX A2 12,285 12,300 A15
201 Let2d] 12,285 12,300 A15
01 At 22l 285 300 A15
O2s2Z AR BHOIX HA L A+ +4
=3 100,000& * 33| = 95% 285
02 2324l 12,000 12,000 0
o2zt =01 EHOIX RXE=
1,000,000& * 12& 12,000
2Z01e =4 1,854,207 428,056 1,426,151
as 525,000
< 105,000
Al 1,224,207
22 OHLHE X & 2te| 30,000 30,000 0
401 A& HIZ 201 I 30,000 30,000 0
01 A& HI 30,000 30,000 0
OZZoHHEXZ U AL 30,000,000& 30,000
22X HH ZHAY 80,720 100,900 220,180
401 AIEHI L 2 CHYI 80,720 100,900 220,180
01 A& HI 80,000 100,000 220,000
o2& &8 TdAY 80,000,000& 80,000
03 AIE 2 THHI 720 900 A 180
O=ZX dH =&AL 80,000,000& * 0.90% 720
ot 23723 222 24 1,050,000 0 1,050,000
as 525,000
< 105,000
Al 420,000
201 L2l 60,000 0 60,000
as 30,000
< 6,000
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el BBIIY X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 24,000
03 & Ar2 I 60,000 0 60,000
o=23+=2 s222H 29
30,000,000& = 23] 60,000
s 30,000
< 6,000
Al 24,000
207 A O] 20,000 0 20,000
s 10,000
= 2,000
Al 8,000
02 & AR I 20,000 0 20,000
O=s+= EHO0X *= 20,000,000& 20,000
s 10,000
< 2,000
Al 8,000
401 AIEHIZL 2 CHEI 970,000 0 970,000
s 485,000
= 97,000
Al 388,000
01 A& Hl 966,100 0 966, 100
2373 222 ZLEAY 966, 100,000 966,100
as 483,050
< 96,610
Al 386,440
03 A& S THHI 3,900 0 3,900
O=st=s 2&Zd ZdAY 3,900,000 3,900
s 1,950
< 390
Al 1,560
T dE2 29 11,800 9,800 2,000
201 Let24d] 11,800 9,800 2,000
02 23=24gHl 11,800 9,800 2,000
OXFo4 AIS 29| 11,800
Ox3%d=s A2 MRS
250,000& = 12& 3,000
OZo%+ 4HE 44+ER3
150,000& * 12&8 1,800
OAZ &Yl | 7,000,000& 7,000
A= 2ZI|BAIE 2Y 72,028 54,596 17,432
101 @124 dl 15,806 15,806
4 D12t ZE2XREES 15,806 15,806
OFANZ ANEZ2 22
68,720& = 1H * 262 * 83 14,294
OPIETE = =) 1,512
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AN 22ZH Y
M pRAYNE
el BBIIY X4 (e @e)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Os&s s FAES
100,000& = 7& = 95% 665
O=ME2 272EIF
1,000,000& * 124 * 95% 11,400
SECNEER-EE
250,000& = 52MIE = 95% 12,350
O=xct2t =el&E+ 8 EIIR
6,500,000& * 95% 6,175
02 =224l 47,600 0 47,600
OA&E2gHI 40,600
o&IIe3 3,000,000& « 7& 21,000
O3 2,800,000& * 73 19,600
OANEE RXNE=+ 1,000,000& = 7& 7,000
207 51 OH £ H| 29,000 0 29,000
02 & AR EHHI 29,000 0 29,000
Ox=¥d=z EMOIX 7= 29,000,000& 29,000
401 Al HIZ 2018 302,160 0 302, 160
01 A& HI 300,000 0 300,000
OZZHEZ LHE32 dAISA 300,000,000 300,000
03 Al 2 0HHI 2,160 0 2,160
o=z WRES2 HAISA
300,000,000& = 0.72% 2,160
405 TtHabF S| 163,650 0 163,650
01 ML ESH SHI 168,650 0 168,650
o#zHclA(22s) 18,400
OMNeEHAe H Xt 500,000& * 44 2,000
O0IsAMEH 200,000& = 404 800
OItel & 300,000& * 404 1,200
oz Fd 1,400,000& = 404 5,600
OFSk= P 400,000& « 4CH 1,600
O=gl 3,000,000& = 1CH 3,000
(O ES 600,000& * 1CH 600
OS2 M AIEDI 1,000,000& = 1CH 1,000
OoTv 1,000,000& « 1CH 1,000
OMNPBHY & oTH(ZEA)
500,000& * 12K 500
odlolrg 300,000& * 1K 300
Q2o &t 50,0002 * 20K 100
od&E 700,000& * 1CH 700
oI A (MHIAS) 10,200
OArRE Tt 300,000& * 204 600
oz Fd 1,400,000& = 2CH 2,800
OFSk=p) 400,000& = 2CH 800
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2BMAEE
2P x4

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odlols 300,000& = 504 1,500
O R (etLHE) 50,000& = 20K 1,000
OALTME(tUHE) 1,000,000& * 14 1,000
OozaU(a=4) 500,000& = 14 500
oMbl (e =24) 300,000& * 104 300
OAalt(1E-=F4) 200,000& = 204 400
OtElE (=R 4) 300,000& = 204 600

FOLME ST (7 4) 100,000& * 24 200
OFXeX (=2 4l) 200,000& =« 1CH 200
OIIEI& (Ft2H) 300,000& * 1K 300

Ozt oL A 5,100
OAREMA & oXt 500,000& * 24 1,000
oz Fd 1,400,000& = 2CH 2,800
OH& s 400,000& = 2CH 800
OHliolrs 300,000& = 12H 300
O Xt 50,000& * 44 200
O=z=ctzt 61,050
Ot 300,000& = 204 600
OgAag8itAd X 1,500,000 * 2CH 3,000
OADJIMAD| 2,500,000& =« 1CH 2,500
OADIAX 1,000,000& * 14 1,000
OgAasdED 3,000,000& = 1CH 3,000
OZXHED 1,200,000& * 2CH 2,400
OdIIgE 200,000& = 204 400
O& Rtell el Xl 300,000& * 1K 300
(OFSWIFSE=~ 1,650,000& = 1JH 1,650
OHOIS(HMEA) 500,000& * 8JH 4,000
OoXt(22lE-ME 4) 300,000& = 1694 4,800
OOISAEXHOIE(MEA)
100,000& * 504 500
Ot A8 (ME4) 275,000& = 204 5,500
O BHADI (MEA) 550,000 * 30MIE 16,500
OAPZABrAH(HEA) 110,000& * 307K 3,300

FORMDI(HME ) 220,000& » 20MIE 4,400
O A (MEA) 220,000 » 20MIE 4,400
OArREMA & Tt 500,000& * 1K 500
oz Fd 1,400,000& = 1CH 1,400
o=l 500,000& =« 1CH 500
(OFSF~ 200,000& = 204 400

ot=x 7,000
O&olalH £ 200,000& * 54 1,000
OFSRUESESID; 50,000& = 204 1,000




ZH2F )
2BMATE
ZEIY T4 el iEE)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OobltileE2®H 3,500,000& * 1CH 3,500
OL-E=Z&AZEH 1,500,000& = 1CH 1,500
(OFSE=E &S| 7,200
OHdlol= 300,000& = 9JH 2,700
O9| &t 50,000& * 30H 1,500
HABYID 3,000,0008 * 1CH 3,000
OSNY 2,400
ONSBHA U X (BEA)
500,000& = 1JH 500
OHEEH(ZHA) 1,400,000 = 1CH 1,400
OAMNREMA L OIH(FOoIEEA!)
500,000& = 1JH 500
Ost=2ME2(Hels) 16,900
OMES2 Xt 300,000 = 24 600
OATNNE 1,000,000& = 14 1,000
OHdlol= 300,000 = 1JH 300
O &t 50,000& * 44 200
ONsSsEs2HD| 3,000,000& * 1JH 3,000
O3 FH 1,400,000& * 2CH 2,800
O& 3| 400,000 * 2CH 800
OozZHzZed 1,000,000& = 1CH 1,000
ON & DI 1,500,000& = 2CH 3,000
O2AXD] 1,500,000& = 1CH 1,500
O0lSAEH (=R A 300,000& = 24 600
OMbIY (2 H-=24l) 300,000 = 1JH 300
CHoOlE(2g9ad4) 300,000& = 1JH 300
Oo (s aal) 50,000& * 44 200
OdEN(sdady) 700,000& = 1CH 700
O& M| 300,000& = 2CH 600
Ost=2 e 2(124) 30,400
ONa s 500,000& = 1204 6,000
OHlol= 300,000& = 8JH 2,400
O XA O] Rt 50,000& * 324 1,600
OTV 1,000,000& * 12CH 12,000
O &1 (300L016H) 500,000& = 12CH 6,000
(@FSPAT=REDN| 200,000 = 1204 2,400
02 T A7 5,000 0 5,000
O=EAM(SAY) 12,5008 * 400& 5,000
Z0HAE 435 2,682,230 2,785,117 A 102,887
AMH=I 2,488,632 2,562,314 NT3,682
101 @1 21| 56,982 55,314 1,668
04 JIZtHIZ22XNHESE 56,982 55,314 1,668




SN BBYHID
Hu: DEAANE
el BOIEY B (sl &2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=HZ =4 2 68,7208 * 5% * 150 51,540
OFNE x=d URY JIARE= 5,442
O=8d3 51,540,000& = 4.5% 2,320
OHL=EE 51,540,000& * 3.23% 1,665
OFIILAEH 1,655,000& * 8.51% 141
(ONE=3--0= 51,540,000& * 1.5% 774
OMTHEH 51,540,000& * 1.05% 542
201 LBt2E | 6,650 7,000 A 350
01 At 22l 6,650 7,000 A 350
O=H Zgaas 294 7,000,000 * 95% 6,650
307 2I2+0 & 2,425,000 2,500,000 A75,000
04 QIZFHALAIH B = 2,425,000 2,500,000 275,000
OHIAMH=H  2,500,000,000& = 13| = 97% 2,425,000
B NMEEN =29 63,050 65,000 A 1,950
307 21201 A 63,050 65,000 A 1,950
02 IS AHEL 63,050 65,000 A 1,950
O&= ANMEIENH 29 65,000,000& * 97% 63,050
CAZZESLG(SH, g0, 22 3) 82,408 84,508 A2,100
201 Yer2 2t 14,508 14,508 0
02 =224l 14,508 14,508 0
O4orz 2ot HXAAE 2323 2,583
o&IIe3 40,000& = 123 480
OQHY == 25,200 « 12& 303
OHXIAZT8 KX 2clbl 150,000& » 12& 1,800
oOZ&otE=A 2HHI(Htd, =232) 1,805
o&IJIe3 50,000& = 128 * 204 1,200
OHY=23 25,200& * 128 * 2004 605
ool AlEE RAE>
10,000, 000& 10,000
odetzd AldlgrAel o128 dIl=s
10,0002 * 12& 120
307 212+0 & 67,900 70,000 A2,100
02 It MAMHEE 67,900 70,000 A 2,100
O+=A= 2ZotH & Hatze| AtY
40,000,000& = 97% 38,800
oSt 29 30,000,000& = 97% 29,100
IS 2BA RX 22T 20l EB0HHE 20,000 41,000 A21,000
201 L2l 20,000 41,000 A 21,000
01 At 22l 19,000 20,000 A 1,000
O%g=¢0 2Z2H KX 2etel EL20tHE
20,000,000& * 13| * 95% 19,000




SN RBEYY
Hu: DEAANE
SRl 2OY 245 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 1,000 1,000 0
ObbbZ 2|0 SHEHHAMHIA &3l
1,000, 000& 1,000
=0 222 KA HAA AHMEIE X& 5,000 10,000 A5,000
301 LEMZ 5,000 10,000 A5,000
12|24 = 5,000 10,000 A5,000
OFFAl 2= 2ZM QIMEE K&
5,000,000& 5,000
M2 wsF 3,140 12,795 A 9,655
201 Let24d] 1,140 1,200 260
01 At 22l 1,140 1,200 260
O wICt SHOIAL 1,140
OZUY 50,000& = 1JH * 103 * 95% 475
Ogs+=9% 70,000& = 10 = 103 = 95% 665
202 O4dl 2,000 0 2,000
03 =220l 2,000 0 2,000
O=9R¥ HANHI 2,000,000& = 13l 2,000
=3 Az 22 LH3 HA 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
02 IZtE M AHEE 20,000 0 20,000
Oz= AzaZ 443 Nz 20,000,000& 20,000
HE2IZH (2ZEF ) 98,430 91,180 7,250
Jl23l 47,968 53,908 25,940
JlE2&l 47,968 53,908 A5,940
201 LBt 17,828 19,588 A 1,760
01 At 22l 17,528 19,288 A 1,760
OgBt+=&H| 6,912
OJl2gessdasH (JIE3Hl)
500,000& = 15 * 95% » 97% 6,912
O= &l 10,616
OJIEZ |
8,000 * 159 = 8 * 12&8 * 95% » 97% 10,616
02 =24l 300 300 0
OYEH AR EHI = X4l 300
OT = AL 5,000,000 * 6% 300
202 (44l 26,540 30,720 A 4,180
01 = LH o4 1l 26,540 30,720 A 4,180
OJI&Z
20,000 = 159 » 82 « 12& » 95% * 97% 26,540




SN BTIHDY
Hu: AYSHAU (BRI
S SREED

M- BB (BH) - NEAY - BaS il 2
203 @R =&H 3,600 3,600 0
04 ENSHERFA 3,600 3,600 0
©J|=H (202! 0 300,000 = 128 3,600
olad 2 A Y| 50,462 37,272 13,190
234l 50,462 37,272 13,190
101 2121 4| 50,462 37,272 13,190
03 2IHAZZ2XHE %= 50,462 37,272 13,190
OsSYotU& 50,462
OodE(Ita,1558)
2,894,640& « 1H * 128 34,736
o= 10,071
s 2,640
ol 2 Xt 40,0003 * 198 = 12& 480
- AHH (3Y) 180,000& * 12& 2,160
A2l = 19,860& * 15A12F = 12& 3,575
-HIIE A2 105,920& = 20 2,119
=5Y 144, 730& = 12& 1,737
OY ZE I 2,894,640 * 50% * 23| 2,895
O=&| 130,000& * 128 1,560
O&AxE 50,000& * 12& 600
[@F-~In/PFe: = 600,000 600




20208 &= =0l &t 2eHg

M HEALY

=

FH: MSALE g =
Helr Xy SSHIA

= o

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
M= AA D ,054,859 23,297,277 219,242,418
s 710,000
< 829,000
Al ,515,859
HM=AE Ol =4 ,539,100 17,900, 000 A 16,360,900
s 710,000
< 829,000
Al 100
MEUXNSE ZSH ,539,100 17,900, 000 A 16,360,900
s 710,000
< 829,000
Al 100
LH==MEM=Z ,539, 100 3,000,000 A 1,460,900
s 710,000
= 829,000
Al 100
401 AIEHI ,539, 100 3,000,000 A 1,460,900
s 710,000
< 829,000
Al 100
01 A& Bl 1,539,100 2,890,000 A 1,350,900
OuU=e 1,539,100, 000& 1,539,100
s 710,000
< 829,000
Al 100
FD=ZF2 MSAE , 476,156 5,344,405 A 2,868,249
=SsH0 HMEA4 1,794,846 1,213,695 581,151
MEAE AE=2 1,252,348 1,213,695 38,653
307 21201 A 1,252,348 1,198,762 53,586
05 BIZERI & 3 1,252,348 1,198,762 53,586
OUl==8XHs4dH 708,207,000 708,207
OXHAAZXHE &L 2 =g
196,878,000& 196,878
OFERCI L HEZREID
165,020, 000& 165,020
OBFERE 182,243,000& 182,243
AL LSE 29 542,498 0 542,498
201 et 281,500 0 281,500
01 At 22l 13,500 0 13,500
ogad 22l 13,500, 000& 13,500
02 =224l 258,000 0 258,000
oLNH HIIRS 30,000,000& * 5& 150,000
oYaE =23 3,600,000& = 53 18,000
OYME IHARZ 18,000,000& * 5& 90,000




2AH: A

ENEE
M FD+F2 MSAE 22
thel: SEFQ MsAE X (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
03 A2 Z Hl 10,000 0 10,000
O LY A Z Jf2tA 10,000,000& * 13l 10,000
THatS SHI 260,998
AR ESH S 260,998
OAHE A HIS 116,838
Oz &=d 1,400,000 * 1404 19,600
OAED(M B MM SO ) 228 243,0008 * 404 972
OAED(& EH M SD1) 1,657,000& * 404 6,628
O 1 (500L0] &) 1,000,000& = 2CH 2,000
OAEHED(100L015tH) 300,000& =« 2CH 600
(OFSPNE-PAD) 5,500,000& = 1CH 5,500
OxgHXED| 3,170,000& « 3CH 9,510
OFsk=p) 429,000& = 150K 6,435
O X H Al ==21 860,000& = 2CH 1,720
oA 600,000& =« 1CH 600
O4m(12/&) 500,000& = 14 500
ogsg(deuing) 150,000 * 2JH 300
ORE¥(89IY) 300,000& = 24 600
O4I (32 8) 800,000 = 34 2,400
O8dl & 188,000& * 404 752
OCSTEX 222,000 = 24 444
OHIHEIR 300,000& * 1024 3,000
ol ExRE 512,000& = 104 5,120
Osde3 561,000& *» 30X 16,830
OAHOIES 2N 520,000& * 2694 13,520
OREEX 182,000 * 44 728
(@FELECIPY; 44,000& * 1694 704
OHIols 152,000& * 8H 1,216
OAEAXN(1EUIIB2 97,000& = 164 1,552
O3t I 2 &t 379,000& = 1404 5,306
(OFSE=1N 880,000& = 14 880
OMEET 300,000& = 144 4,200
OAMREMA(gRY) 600,000& = 14 600
OAMNZES A 200,000& = 10K 2,000
O0IsAMEHE 200,000& = 114 2,200
O&t 284,000& = 14 284
OUES A 137,000 * 10K 137
OAAOIE AOHI 6,050,000& = 20H 12,100
oOZd & HIB 119,360
OZHAE(=HMAA), 2HE
1,650,000& * 324 52,800
OBe#/EE 165,000& * 404 6,600




2AH: A

EVPE
M FD+F2 MSAE 22
29 S8X AL N (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OetM &yl (&) 20,0002 = 604 1,200
oot &I (BEs) 11,0002 * 60H 660
Osetold 50,000& * 400K 2,000
OLsE2dX 165,000& * 124 1,980
OFYII(0LOI ADFAE) 38,500,0008 * 1CH 38,500
Oou 3,300,000& = 1CH 3,300
OsHEAIF Y 0l H 550,000& * 34 1,650
OmsH JE 770,000 * 204 1,540
OHZdl = 990,000& » 1MIE 990
OH=sEE 165,000 * 1MIE 165
OZIEECtoIZMOoIA 1,320,000& * 1K 1,320
ObtolEe ool ™ 550,000& =« 14 550
OLLHAEHIOIEHMOIA 715,000& = 14 715
(@)=l = 770,000 » 2MIE 1,540
Ot (&4 550,000& = 2AIE 1,100
OBtRAAE(Z4HHA, 2t Zd)
880,000& = 2AIE 1,760
OAg2teldl 990,000& =« 1CH 990
oOYaZ2I el AlAE 12,700
Oz gdd| 2,500,000& « 1CH 2,500
O3 2d Y| 4,000,000& = 1CH 4,000
OHIZ2E AJMY 1,000,000& * 1CH 1,000
OIC3tE =YD 450,000 = 2CH 900
Ot ct 100,000& * 104 100
Oz &=H 1,400,000& * 3CH 4,200
AQI0I A28 MSAIE WA 172,150 2,888,834 AN2,716,684
ZOHAZ=MEH & 2UHSSEEHE AMEHLEAS 45,180 58,834 A 13,654
401 Al HIZ 201 Y] 45,180 58,834 A 13,654
01 A& HI 44,726 58,339 A 13,613
OZMAAEZ=ME H Z2UHSSEEHE MMM 44,726
O3 AH| 42,000,000& 42,000
O& A& 42,000,000 * 6.49% 2,726
03 AlE =2 THHI 454 495 A4
OFMHAAZXHE X 2HSSEHE AIEHH
42,000,000 = 1.08% 454
Olsd MIASZEH FUHAME HESAM 20,000 0 20,000
401 Al HIZ 2018 20,000 0 20,000
01 A& HI 20,000 0 20,000
Ollsd MIA=ZZ FUHAIE HESA 20,000
O& A& A 20,000,000& 20,000
W22 ZHASEA EX3A 106,970 0 106,970




DHSAIE Y
CEIDSES MSAL 2l
DARI0L AZE MSAIE A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 106,970 0 106,970
01 A& HI 106,070 0 106,070
OU===2F FHUSHEA ZISA 106,070
O3 AtH| 100,000, 000& 100,000
O& A& A 100,000,000& * 6.07% 6,070
03 A& =TI 900 0 900
OU=== AT I SA
100,000,000& * 0.9% 900
LM E XM Z ot= MSAME HXA2a 509, 160 1,241,876 AT32,716
MEAE =Z2el & s#ZFFH 72,000 60,000 12,000
401 Al HIZ 201 I 72,000 60,000 12,000
01 A& HI 72,000 60,000 12,000
OMSAE ZZ2el & S3FUAY 72,000
OxZzel ¥ BB
12,000,000& * 690 £ 72,000
AL 2el 335,660 537,016 A 201,356
201 L2l 54,160 78,000 A 23,840
01 At 22l 6,840 7,680 A B840
OUdBE =2 1,140
O=NAEUEH =2
100,000 = 49 = 32 = 95% 1,140
OMsSAY 28 E22 MA
3,000,000& = 95% 2,850
OMSAIY 2t3H COHLHE XM=
3,000,000& = 95% 2,850
02 =24l 47,320 70,320 A23,000
OMSAIE A&LZEBISRXH
5,000,000& * 604 30,000
OMSAEZL ALY RIE>
610,000& = 123 7,320
Os0l= HME33 JI28 dIIR3
350,000& = 12& 4,200
Oz0l&2 HE3d =232 400,000& = 128 4,800
OHMSAE LSRLREES
1,000,000 = 10024 1,000
203 YR =& 2,000 0 2,000
03 AIMZ=XH S =AY 2,000 0 2,000
OMSAE 22l g2F2 2,000,000& 2,000
401 AIEHI L 2 CHYI 279,500 414,280 A 134,780
01 A& HI 279,500 414,280 A 134,780
OMSAE RANE=> 12,000,000 * 69H £ 72,000




2N
X ZH -
L= B

el

IF A4
ZD=E2 MISAE 22
oM E XRE2Z ot MSAE

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OSHHESAE RANE>
50,000,000& * 4043 200,000
OMESAE SAALlEE SA(E=222x4H
S 40a) 7,500,000& 7,500
MSAIE &2l 81,500 81,500 0
201 £B-2d| 12,000 12,000 0
02 =24l 12,000 12,000 0
O A& & Hl S Xl 2,000,000 = 6IH A 12,000
401 Al HIZ 2018 69,500 69,500 0
01 A& HI 69,500 69,500 0
QJIHAE A2 2=t
3,000,000& * 50 £ 15,000
ORIMEH RANE=(HMSAE &)
2,000,000& * 5 £ 10,000
OALAEOQIHAMI)RNE =
1,300,000& * 5JH £ 6,500
O&IILH 2= 4,000,000& * 5Jf A 20,000
oYsSHLH = 18,000
OogssE&EH 1,400,000& * 50 & 7,000
OCCTVA HI 1,400,000 * 50 £ 7,000
OZFESAEH 800,000& * 50 A 4,000
EFETEANIE ELHIAY 20,000 563, 360 A 543,360
401 A& HIZ 201 8] 20,000 563, 360 A 543,360
01 A& HI 20,000 560,000 A 540,000
OFF=SEANAE ELF3ALY  20,000,000& 20,000
HE2LAZH(HMSAED) 39,603 52,872 213,269
JlEZ3l 39,603 52,872 A 13,269
JlE2&l 39,603 52,872 A 13,269
201 L2l 18,202 19,004 A 802
01 At 22l 17,182 17,444 A 262
OJl=gedastl (JIE2)
500,000& = 13 = 95% * 97% 5,990
ougasz 885
OXl & X
13,000 * 5JH AL = 12 * 95% * 97% 719
osdX
15,000 * 1JHAF = 128 * 95% * 97% 166
oz3gd(JIE34l)
8,000 * 13 = 8L « 128 * 95% » 97% 9,201
OMSAE H=J| MNER
50,0003 = 200 = 12& = 95% » 97% 1,106
02 =24l 1,020 1,560 A 540




M MEANL D
H: HHE2IAH(MSAIED)

& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OACIETV =8l = 20,000& = 12& 240
oORER=S 780
OgttsH 350& * 1,000 350
OosJl«H# 2,150& » 200 430
202 04l 18,401 19,968 A 1,567
01 = LH 4 Hi 18,401 19,968 21,567
O©JI=ZH
20,0003 = 13% = 8 * 12& = 80% » 95% * 18,401
97%
203 YR =&l 3,000 3,000 0
04 FN2ELRZ=TH| 3,000 3,000 0
OJ|EH (152! 0lct) 250,000 * 123 3,000
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SN 202D
M AIQI0 BEE EH =2 0222 X4

&S FFAEN=H 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0 2F 14,517,016 13,967,886 549,130
2 9,000
J| 57,069
= 300,000
Al 14,150,947
ARl =8 2 =2 =32 =4 14,182,160 13,681,735 500,425
= 9,000
J| 57,069
< 300,000
Al 13,816,091
BNz 29 11,489,008 10,948,024 540,984
AE0ol=E el 9,782,102 9,388, 121 393,981
301 LeEAF 9,782,102 9,388, 121 393,981
o=t - 2sRSENS 9,782,102 9,388, 121 393,981
OAg0ose ot 9,623,740
OJlgs 6,636,616
-“SHE(HSH)
6,250,000& = 498 » 128 300,000
—2EAE Y AH (63 2858 &Y
3,834,200 * 49¥ * 123 184,042
-SNHRA(7T3 45 &Y)
2,986,200 * 33¥ * 123 1,182,536
-UHAEHR (83 162 &Y
2,809,800& * 41H * 123 1,382,422
- BRI (98 1558 &Y)
2,491,400 » 120 * 123 3,587,616
Od0= 528,052
g2+
6,336,616,000& * 1/12 = 50% * 23l 528,052
O=% 1,127,180
s 127,440
- B X 40,0003 = 1169 » 12& 55,680
=l = 20,000 = 1178 = 128 28,080
= M XA 60,0003 = 54H » 123 38,880
AT KA 100,000& » 4%  12& 4,800
-AHHEHEEE 15,620
- ISEM 433,880 * 9Y « 43| 15,620
-Soxg 50,000& = 202Y¥ = 183l 181,800
-llseH g 462,120
g4 & 4F
280,000& = 49¥ » 12& 13,440
s 230,000& = 33H » 123 91,080
- AR 200,000& = 41 » 128 98,400
- LBHEHR 180,000& * 120 * 123 259,200
=R R 340,200




& AR E A A

20202 = =0l &k LEEA SN ~ 2U2

SN 202D
M AIQI0 BEE EH =2 0222 X4

ool FFAYNES 29 CER-ED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
SEa3 2 oF
300,000 * 4% = 12& 14,400
c e AMER 200,000& = 33H * 128 79,200
- XbACHR 150,000& * 4198 = 12& 73,800
- A BHCER 120,000 » 120 » 128 172,800
O&F M= A 130,000& = 198Y * 12& 308,880
OY &SIyl
6,336,616,000& * 1/12 x 60% * 23l 633,662
o%sd 2XME 29
1,000& = 900P * 202Y 181,800
OLNsSEEa8Y=2 6,636,616,000& * 1.5% 99,550
OANEH=C HAadSR o124
900,000& = 10¥ * 12& 108,000
ONEM=E AILE A
6,336,616,000& = 1/12 = 86% * 1/30 ~ 7 105,963
OANEWH=E MRA =22 2Y 45,399
ONeaRLY
10,509& * 12% = 30Al2+ = 12& 45,399
OS#2Lg 7,000
o&=24¢ 1,000
-2 100,000& * 5= 500
- A 100,000& * 5= 500
OEzx¢ 3,000
- Skt 50,000& * 10= 500
-2 50,000& * 30= 1,500
S 50,000& * 20= 1,000
ooR=d 3,000
-2&CcH(58 0lat) 100,000& * 53 500
-2EH(52~T2) 200,000& * 53] 1,000
287 =) 300,000& * 53] 1,500
A=Y 243 606,886 580,781 26,105
201 et A | 221,543 221,110 433
01 AFR2t2l Yl 185,043 184,610 433
O33N NE 10,260
Omsretct 12,000& = 808 * 13 * 95% 912
Ogsa= 12,0003 *» 558 * 43| * 95% 2,508
O=<ct 12,000& * 508 * 43| * 95% 2,280
oss¢ 12,000& = 402 = 103 * 95% 4,560
O3d24a L H=HFH 39,881
O ZAHA 740,000 = 2794 * 95% 18,981
OFsH dotEel o4t
1,000,000 = 102 x 2& = * 95% 19,000




2N
X ZH -
L= B

el

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
ORSH ARt &=(28)
1,000,000& » 2H * 95% 1,900
OANEl=t SHEE M}
5,000,000& = 23| = 95% 9,500
OANEl=d sHEd A
8,800,000& = 13| = 95% 8,360
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